20145E B U5 KA E] EERY R EERUER

XE | faFk | WHES IR H HEBR B | AnvEFRAE | HERCAAL | BEERS | AR
2014-10-9 A 0. 232 5 mg/L B
2014-11-5 AL 0.214 5 mg/L I

S 8. 77 15 mg/L 2=
YERIIES 0. 04 1 mg/L B
LAY 0. 04 1 mg/L B
PH{{ 7.34 6-9 JoEAN pas
LEAL 0.79 10 mg/L =
JS8iz: 0.07 0.5 mg/L ik
iR T AR 12 50 mg/L =
Ny 8 30 % P
2014-10-9 MR 0.00016 [ 0.001 mg/L 7z
SR <0.0001 | 0.01 mg/L ik
SR 0.011 0.1 mg/L B2
U 0. 005 0. 05 mg/L I3
L <0.0003 [ 0.1 mg/L B2
SVEY <0.001 0.1 mg/L 7
K2R | AR Kﬂif iﬁgj;ﬁﬁ 0.05 0.5 m/L A
INT
] PH{{ 7.18 6-9 | Jh I3
T 1.3 10 mg/L pas
SV 0.07 0.5 mg/L 7
2 R A 22 50 mg/L B2
Ny 10 30 % =
SR 0.00017 [ 0.001 mg/L 7=
SV <0.0001 | 0.01 mg/L S
SR 0. 007 0.1 mg/L P
2014-11-5 SN 0. 005 0.05 mg/L i
S <0.0003 [ 0.1 mg/L 7=
SVEY <0.001 0.1 mg/L S
Y 9 10 mg/L 7=
1B 2R s
A1 (1AS) 0. 05 0.5 mg/L =
MEA 14. 1 15 mg/L =
YeRiiES 0. 06 1 mg/L =
A 0.05 1 mg/L e
PH{{ 7.17 6-9 JoiE =
A TFA R 1.05 10 mg/L B2
JSy iz 0.38 0.5 mg/L L
A T O 13 50 mg/L B2
aNi 8 30 % =
R <0.00004| 0.001 mg/L B2
SR <0.0001 | 0.01 mg/L L
SR 0.013 0.1 mg/L =
VAN Ik 0. 007 0. 05 mg/L =
201471071 ST 0.0011 0.1 mg/L B2
ST <0. 001 0.1 mg/L L
=T 8 10 mg/L B
B R 1 s
A (LAS) 0. 08 0.5 mg/L 7=
A 0.234 5 mg/L I




XE | gk | SRES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
ISEA 13.7 15 mg/L i
F s 0. 04 1 mg/L B
SR <0. 04 1 mg/L 2
PH{EL 7.28 6-9 =N =
A T 0.82 10 mg/L I3
L 0. 45 0.5 mg/L o
e AR 13 50 mg/L St
anic 10 30 £ yis
SR <0.00004| 0.001 mg/L ik
AR <0.0001 | 0.01 mg/L B
r H.
F ;éf% 0. 005 0.1 mg/L f2
i [k 2014-11-1 /\rj{n%% <0.004 | 0.05 mg/L 2
SR ,\uﬁfﬁ 0.0012 0.1 mg/L 7=
ST <0. 001 0.1 mg/L I
=T 9 10 mg/L e
328 - 2R T
51 (LAS) 0.09 0.5 mg/L o
TR 0. 154 5 mg/L =
ISEA 9.92 15 mg/L P
PaiiEN 0.04 1 mg/L =
SIREA <0. 04 1 mg/L =
PH/{H 7.28 6-9 JoEHN =
A T A 0.89 10 mg/L I3
S 0.49 0.5 mg/L i
A i 17 50 mg/L B
g 8 30 i pass
SR <0.00004| 0.001 mg/L S
KL <0.0001 [ 0.01 mg/L 7=
SV 0.01 0.1 mg/L i
VAN ks 0. 006 0. 05 mg/L 7=
2014124 L 0.0013 0.1 mg/L P
ST <0. 001 0.1 mg/L s
=T 7 10 mg/L 5
[ 7R v
51 (LAS) 0.12 0.5 mg/L s
A 0.15 5 mg/L s
MEA 12.8 15 mg/L =
YeRiiES <0. 04 1 mg/L =
ILER/RIE 0. 04 1 mg/L &
2014-10-10 AL 0. 264 5 mg/L i
2014-11-10) A 0.157 5 mg/L o
2014-12-4 AL 0. 164 5 mg/L i
JSEA 14. 1 15 mg/L 5
VRIS 0. 05 1 mg/L I3
ILER/RIE 0. 04 1 mg/L 5
PH{{ 7.3 6-9 Jo 2 pas
A TFA R 1.71 10 mg/L pas
JSy iz 0.41 0.5 mg/L L
A T 15 50 mg/L B2
JaNEs 8 30 % pas
2014-10-10] MR <0.00004| 0.001 mg/L o
sy <0.0001 [ 0.01 mg/L I
SV 0.01 0.1 mg/L i




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
AN e 0. 006 0.05 mg/L B
ey il 0.0015 0.1 mg/L i
SVEY <0. 001 0.1 mg/L ik
=IEY) 10 10 mg/L s
B3 -2 v .
A (1AS) 0. 08 0.5 mg/L s
PH{{ 7.28 6-9 ToEAN pas
A T A 0. 38 10 mg/L s
JSRiz: 0.46 0.5 mg/L ik
WEE T R 11 50 mg/L =
iy 10 30 % pas
EE AR EIR <0. 00004| 0.001 mg/L B
MritvE /K AL <0.0001 | 0.01 mg /L 2
PEPRES | g ks 0000 | 01 [ mel | &2
(—#)) |2014-11-10 SN 0. 005 0. 05 mg/L £
L 0.0016 0.1 mg/L B2
SVEY <0.001 0.1 mg/L 7
I 7 10 mg/L B2
1 2 v
A (LAS) 0.13 0.5 mg/L =
ISEA 11.1 15 mg/L P
PERiiES 0.04 1 mg/L g3
SIREA <0. 04 1 mg/L =
PH/{H 7. 64 6-9 o =
A T A 0. 96 10 mg/L B
i 0. 49 0.5 mg/L IE
A i e 18 50 mg/L =
JaNES 8 30 1% =
SR 0.00008 | 0.001 mg/L S
AL <0.0001 | 0.01 mg/L 7=
SR 0.01 0.1 mg/L =
2014-12-4 NS 0. 006 0. 05 mg/L At
LMt 0.0014 0.1 mg/L S
A <0. 001 0.1 mg/L 7=
=T 8 10 mg/L e
I 7R v
A1 (1LAS) 0.17 0.5 mg/L P
M 12. 1 15 mg/L i
Rl 0. 04 1 mg/L B
SR <0. 04 1 mg/L I3
A 2. 58 5 mg/L 5
A 7.26 15 mg/L L
Rl 0.07 1 mg/L 5
SR 0.04 1 mg/L I3
PH{H 7.74 6-9 e pas
AT E 2. 69 10 mg/L L
AL 0.18 0.5 mg/L B2
YEE SET] T 6 50 mg/L 2=
N P T Ny 8 30 £ pa
TR | g g | 201471174 Bk 0.00008 | 0.001 | mg/L 1
7 BR A ] SR <0.0001 | 0.01 mg/L )
S 0. 004 0.1 mg/L B
S <0.004 [ 0.05 mg/L =




XE | gk | SRES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
M <0. 0003 0.1 mg/L i
SV <0. 001 0.1 mg/L 2
=Y 7 10 mg/L 2
12 2 v o
#(LAS) <0. 05 0.5 mg/L =
A 2. 15 25 mg/L i
MA 3.72 mg/L
f s 0. 04 5 mg/L B
SR 0.04 5 mg/L 2
PH{} 7.99 6-9 ToEN Py
A T 4. 22 30 mg/L I3
e e SR 1.32 3 mg/L =
fote T | 56 | 100 | e/l | &
AT (NS 25 40 {5 i
e M AIX (2014-11-8 === > 2
Ve b A 0.00021 | 0.001 mg/L B
= SR 0.0002 | 0.01 mg/L B
SR 0.012 0.1 mg/L P
NS 0. 009 0. 05 mg/L =
M 0. 0004 0.1 mg/L 7
SV 0. 002 0.1 mg/L B2
BIFY 15 30 mg/L 7
328 - 2R T o
21 (LAS) 0.12 2 mg/L =
A 1. 84 5 mg/L IE
MA 3.8 15 mg/L P
fHE 0. 04 1 mg/L B2
A 0. 04 1 mg/L 5
S 0.011 0.1 mg/L 7=
AU 0. 006 0.05 mg/L 5
S <0.0003 | 0.1 mg/L 7=
SVEY <0.001 0.1 mg/L S
n | RS o =IEY) 8 10 mg/L s
JFpREL b | 201411 B P A | L - " ;
# (LAS) ' ' e =
A T A 1.5 10 mg/L 5
Joy iz 0.05 0.5 mg/L P
A i U 18 50 mg/L 5
o 8 30 1% =
SR 0. 00065 | 0.001 mg/L B2
AR <0.0001 | 0.01 mg/L L
PH{H 7.9 6-9 ToEAN pas
A 15.7 25 mg/L B
JSEA 22 mg/L
VRIS 0.07 5 mg/L I3
ILER/RIE 0. 04 5 mg/L B
PH{{ 7.54 6-9 Jo 2 pas
A TFA R 8. 36 30 mg/L B2
JSy iz 1.29 3 mg/L L
A T 46 100 mg/L B2
‘ 1B By5 faNis 10 40 fi I3
IEER IKALERT 2014115 MK 0.00016 | 0.001 mg/L B2
SR <0.0001 ] 0.01 mg/L ik
SR 0.014 0.1 mg/L i




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
AN e 0. 008 0.05 mg/L B
LR <0.0003 | 0.1 mg/L 2
SVEY 0.005 0.1 mg/L ik
I 12 30 mg/L g3
B3 -2 v .
5 (1LAS) 0. 05 2 mg/L =
A 2.6 5 mg/L I
HA 8. 62 15 mg/L i
YERIIES 0. 04 1 mg/L B
LAY 0. 04 1 mg/L B
PH{{ 7.62 6-9 ToEAN pas
N TFA 5.3 10 mg/L &
JS8iz: <0.01 0.5 mg/L ik
2 i A 35 50 mg/L B2
S B85 S i Ny 4 30 £ by
SRR Kby |0 ok 0.00041 | 0.001 | mg/L B
SR <0.0001 | 0.01 mg/L P
BB 0. 004 0.1 mg/L B2
NE& <0.004 | 0.05 mg/L B
L <0.0003 | 0.1 mg/L B2
SVEY <0.001 0.1 mg/L 7
I 9 10 mg/L B2
1 - v
A (LAS) 0. 05 0.5 mg/L =
PH{{ 7.55 6-9 ToEAN =
N T 8.33 10 mg/L pas
Mg 0.41 0.5 mg/L S
27 T A 48 50 mg/L =
B 10 30 % pass
SR 0.00009 | 0.001 mg/L =
SV <0.0001 | 0.01 mg/L S
S 0.012 0.1 mg/L =
AU 0. 006 0.05 mg/L 5
201471079 S fif 0. 0006 0.1 mg/L 7=
SVEY <0.001 0.1 mg/L S
Y 9 10 mg/L 7=
1B 2R s
A1 (1AS) 0.07 0.5 mg/L =
A 0. 752 5 mg/L 12
A 14. 2 15 mg/L L
Rl 0. 04 1 mg/L B
SR <0. 04 1 mg/L I3
PH{H 7.82 6-9 ToEAN pas
AT E 6. 77 10 mg/L L
AL 0.5 0.5 mg/L B2
2 TR A 48 50 mg/L I3
t)g 25 30 % pa
SR <0.00004] 0.001 mg/L L
S <0.0001 | 0.01 mg/L B2
YEE i SR 0. 008 0.1 mg/L I3
et 1| IEARTEIK e AN 14 0. 006 0. 05 mg/L o
HRIE | g 1 g [2014711°6 i 0.0004 | 0.1 mg/L I
BRI ST 0. 001 0.1 mg/L &




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
poSe /) 10 10 mg/L B
128 2 v o
#(LAS) 0.09 0.5 mg/L =
A 0. 505 5 mg/L B2
MA 15 15 mg/L ik
YRS 0.14 1 mg/L =
SR 0.11 1 mg/L 2
PH{EL 7.59 6-9 JoE =
A T 7.8 10 mg/L I3
Juy iz 0.56 0.5 mg/L 5 0.1
W T 47 50 mg/L St
anic 16 30 £ yis
SR <0.00004| 0.001 mg/L ik
SR <0.0001 | 0.01 mg/L B2
SR 0. 007 0.1 mg/L P
NER <0.004 | 0.05 mg/L B
201471273 M 0. 0004 0.1 mg/L 7
ST <0. 001 0.1 mg/L B2
=T 8 10 mg/L B
328 - 2R T
A1 (LAS) 0.16 0.5 mg/L =
TR 0.63 5 mg/L =
MA 13.1 15 mg/L P
yaiiEN 0. 06 1 mg/L =
SIREA 0.04 1 mg/L =
TR 0.871 5 mg/L =
MEA 14.9 15 mg/L =
PRl 0.1 1 mg/L B
S 0. 04 1 mg/L e
PH{}{ 7.95 6-9 JoE 2 =
A T A 4. 68 10 mg/L B
o s AL 0. 66 0.5 mg/L & 0.3
g%gg 2% 56 50 mg/L i 0.1
A | GRS [2014-11-4 %E 16 30 fii i
SR 0.00018 | 0.001 mg/L 5
ABLIEA EE 0.0002 | 0.01 / &
NG i : - mg/L =
SR 0.016 0.1 mg/L =
VAN ke 0.013 0. 05 mg/L 7=
ST 0.0013 0.1 mg/L B
ST 0.003 0.1 mg/L L
BIEW) 17 10 mg/L & 0.7
I3 2R s
A1 (LAS) 0.16 0.5 mg/L 7=
2014-11-6 AL 2.52 5 mg/L i
2014-12-1 A 2.78 5 mg/L o
PH{{ 7.65 6-9 Jo 2 pas
A TFA R 9.82 10 mg/L B
JSy iz 0.07 0.5 mg/L L
A T 27 50 mg/L B2
JaNEs 4 30 % pas
SR 0. 00006 | 0.001 mg/L )
SR <0.0001 ] 0.01 mg/L ik
SR 0. 005 0.1 mg/L AL




XE | gk | SRES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
2014-11-6 N <0.004 | 0.05 mg/L £
LR <0.0003 | 0.1 mg/L 2
SVEY <0. 001 0.1 mg/L ik
=T 7 10 mg/L =
B3 -2 v
A (1AS) 0. 05 0.5 mg/L s
R éﬁ 4.38 15 mg/L zZé
FrREER sk DL 004 | 1 | mg/l } o
I SEE i 0. 04 1 mg/L B2
PH{EL 7.65 6-9 JoE =
AT 9. 32 10 mg/L ik
L 0.09 0.5 mg/L o
WEE T AR 26 50 mg/L St
g 4 30 i pass
SR 0.00022 | 0.001 mg/L 7
SR <0.0001 | 0.01 mg/L B
SR 0. 005 0.1 mg/L P
2014-12-1 AN <0.004 | 0.05 mg/L 5=
M <0. 0003 0.1 mg/L 7
ST <0. 001 0.1 mg/L B
=T 7 10 mg/L B
328 - 2R T
A1 (LAS) <0. 05 0.5 mg/L =
M 3. 36 15 mg/L i
ZeRliE 0. 04 1 mg/L B
SR <0. 04 1 mg/L 3
SR 1.37 8 mg/L =
AL 0. 46 1 mg/L 7=
A i U 22 60 mg/L 5
JaNES 8 30 1% =
SR 0.00011 | 0.001 mg/L S
AV <0.0001 [ 0.01 mg/L 7=
SR 0. 007 0.1 mg/L =
VAN ke <0.004 | 0.05 mg/L 7=
- RAFE5 AL Fif <0. 0003 0.1 mg/L =
RAE | ghgmy [20147H5 B 0. 001 0. 1 mg/L B
S B /] 8 20 mg/L 5
[ 2R v o
5 (1LAS) 0.09 1 mg/L =
PH{{ 7.76 6-9 Jo 2 pas
A TFA R 1.74 20 mg/L B2
A 23. 4 20 mg/L 5 0.2
Rl 0. 05 3 mg/L &
SR <0. 04 3 mg/L 2=
A 1.02 5 mg/L B2
A 5.16 15 mg/L L
Rl 0. 04 1 mg/L B
SR <0. 04 1 mg/L I3
PH{H 7.61 6-9 JoE pas
AT E 3. 08 10 mg/L ik
KL 0.23 0.5 mg/L B2
2 o 2 T 23 50 mg/L St
== ﬁ\g%ﬁ oN1A_11_1 @,E 4 30 /f% fEé




XE | g | SHES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
e ””“}é}M R ok 0.00006 | 0.001 | me/L i
AR <0.0001 | 0.01 mg/L 2
SR 0. 008 0.1 mg/L ik
S <0.004 | 0.05 mg/L B
M <0. 0003 0.1 mg/L ik
SV <0. 001 0.1 mg/L B
=Y 8 10 mg/L 2
BT 72 v o
#(LAS) 0.08 0.5 mg/L =
PH{EL 6.6 6-9 JoE =
AT 3.72 10 mg/L ik
SR 0.21 0.5 mg/L =
WEE T AR 43 50 mg/L St
NS 32 30 £ i 0.1
SR 0.00009 | 0.001 mg/L 7
SR <0.0001 | 0.01 mg/L B2
NASEs SR 0.014 0.1 mg/L 2=
v i | KBS i S 0.012 0. 05 mg/L &
e N R i 0.0006 | 0.1 /L 2
] SV <0. 001 0.1 mg/L B2
BIFY 13 10 mg/L i 0.3
328 - 2R T
A1 (LAS) 0.11 0.5 mg/L =
AR 2. 08 5 mg/L =
ISEA 4,78 15 mg/L P
PaiiEN 0. 09 1 mg/L =
A 0.08 1 mg/L e
A 1.26 5 mg/L 7=
MEA 2.2 15 mg/L =
YeRiiES 0.04 1 mg/L =
S 0. 04 1 mg/L s
PH{{ 6. 29 6-9 JoiE 2 =
AL T 0. 52 10 mg/L =
Joy iz 0.1 0.5 mg/L P
e EL 4%?@%5% 345 gg m?;L x:?
LesS Hﬂg}ﬂ—(% 2014711712 E'% 0.0006 | 0.001 ng/L E
KL <0.0001 | 0.01 mg/L 7=
SR 0. 004 0.1 mg/L =
VAN Ik <0.004 | 0.05 mg/L =
L <0.0003 | 0.1 mg/L B2
ST <0. 001 0.1 mg/L L
=T 6 10 mg/L &
I3 R s .
A1 (LAS) 0. 05 0.5 mg/L 7=
PH{{ 8.16 6-9 Jo 2 pas
A TFA R 6. 84 10 mg/L B2
JSy iz 0.02 0.5 mg/L L
A T 47 50 mg/L B2
JaNEs 10 30 % pas
R <0.00004| 0.001 mg/L B2
SR <0.0001 ] 0.01 mg/L ik
T H SR 0. 006 0.1 mg/L =




XE /ﬁ:%gj@* W H 3 Hﬁjﬂﬂlﬁﬁ HEBOR B | ArvERRAE | HERCasr | RS | AR
T E | MK %A |2014-11-6 /‘f‘\% <0.004 [ 0.05 mg/L zZé
e /‘mﬁﬁﬁ <0.0003 | 0.1 mg/L 2
SVEY <0. 001 0.1 mg/L ik
=T 8 10 mg/L =
B3 -2 v
A (1AS) 0. 05 0.5 mg/L s
A 2.15 5 mg/L Ik
SA 4. 28 15 mg/L 2
YERIIES 0. 04 1 mg/L B
LAY 0. 05 1 mg/L &
A 3. 84 5 mg/L I
JSEAN 5. 36 15 mg/L =
YERIIES 0. 04 1 mg/L B
SR <0. 04 1 mg/L I
PH{{ 7.81 6-9 ToEAN =
AN TFA 1.13 10 mg/L pas
SV 0.34 0.5 mg/L 7
— - e e I51 2E
LR Bﬁgé&i 20147111 Es 20.00004] 0.001 | me/L o
SR <0.0001 | 0.01 mg/L P
NS 0. 026 0.1 mg/L B2
U 0. 008 0. 05 mg/L I3
L <0.0003 | 0.1 mg/L B2
SVEY <0.001 0.1 mg/L 7
=Y 10 10 mg/L IE
1B 2R s
A1 (1AS) 0. 06 0.5 mg/L =
SR 4. 47 8 mg/L B2
M 11.9 20 mg/L J
Rl 0. 05 3 mg/L B
SR 0.04 3 mg/L i
PH{H 8. 48 6-9 e pass
Ak T 3.99 20 mg/L B
Mg 0.05 1 mg/L S
B ELyEE 1{‘%@‘%}3—?‘% 189 gg mi{L %
v e 53 = 7=
& H /57J<Fmﬂ 2014-11-3 ER 50005 T oo 001 — o
S <0.0001 | 0.01 mg/L B2
SR 0. 008 0.1 mg/L =
S 0. 006 0. 05 mg/L &
L fif 0. 0003 0.1 mg/L L
SV <0. 001 0.1 mg/L 2
BIEY 8 20 mg/L -
1B 2R s
A (LAS) 0. 05 1 mg/L A
2014-10-10 A 98.9 5 mg/L 75 19
2014-11-17 AL 97.2 5 mg/L 15 18
2014-12-18 A 85. 4 5 mg/L 75 16
A 101 15 mg/L 5 5.7
JeRiiEN 5.411 1 mg/L 15 4.4
SR 2. 308 1 mg/L 5 1.3
KL 0.0008 | 0.01 mg/L 2




XE | gk | SRES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR

SR 0.072 0.1 mg/L B
S 0. 045 0. 05 mg/L J
Mt 0.005 0.1 mg/L ik
SV 0. 0022 0.1 mg/L &
2014-10-10) =EY 8 10 mg /L B
PH{E 7.38 6-9 e Py
AT 9. 83 10 mg/L ik
Juy iz 0.373 0.5 mg/L -

by 358 50 mg/L i 6.2
anic 20 30 £ yis
SR 0.000368] 0.001 mg/L ik
12 2 v o
#(LAS) 0.401 0.5 mg/L =
PH/{H 7.39 6-9 TN =

MA 87.6 15 mg/L 5 4.8

FE 2. 543 1 mg/L & 1.5
SIREA 0. 753 1 mg/L =
BB 0. 063 0.1 mg/L B2
U 0. 042 0. 05 mg/L I3
Ab L AT 0. 0034 0.1 mg/L 2=
2014-11-17 =IEY 7 10 mg/L pas

1 - v

A (LAS) 0. 487 0.5 mg/L =
A T A 9.74 10 mg/L B
S 0. 354 0.5 mg/L P

A i e 170 50 mg/L 5 2.4
JaNES 25 30 1% =
SR 0.000312] 0.001 mg/L S
AL 0.0015 0.01 mg/L P
Mg 0. 357 0.5 mg/L S

1 A 237 50 mg/L i 3.7
B 20 30 % pass
SR 0.000293[ 0.001 mg/L 7=
SV 0.0016 0.01 mg/L S
S 0. 06 0.1 mg/L 7=
AU 0. 043 0.05 mg/L 5
S fif 0. 007 0.1 mg/L P
2014-12-18 A 0. 0034 0.1 mg/L B2
BIEY 8 10 mg/L -

1B 2R s

A (LAS) 0. 464 0.5 mg/L 7

B 91.3 15 mg/L 75 5.1

PERIIES 2.323 1 mg/L i 1.3
ILER/RIE 0. 844 1 mg/L 5
PH{{ 7. 47 6-9 Jo 2 pas
A TFA R 9.4 10 mg/L B
PH{{ 8. 47 6-9 Jo 2 =
A TFA R 1.44 10 mg/L B
JSy iz 0. 04 0.5 mg/L ik
e R A 35 50 mg/L )
i 10 30 e pas
SR 0. 00069 | 0.001 mg/L =




XE | gk | SRES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
SR 0. 0002 0.01 mg/L ik
SR 0. 006 0.1 mg/L i
o AUES <0.004 | 0.05 mg /L I3
201410713 B <0.0003 | 0.1 mg/L. g
SVEY 0.001 0.1 mg/L ik
=Y 10 10 mg/L pats
B3 2 v .
A (1AS) 0.07 0.5 mg/L s
SR 0. 406 5 mg/L I
LV 11.4 15 mg/L =
VEE iR Fimk <0. 04 1 mg /L 2
gl i?fﬁzjf% LAY 0. 04 1 mg/L Py
R IX 57K PHAH 8.51 6-9 Jo 4N 7=
AbE ) AN T 4. 85 10 mg/L pas
SV 0.07 0.5 mg/L 7
2 i A 34 50 mg/L B2
Ny 10 30 % b
SR 0.00048 | 0.001 mg/L B
SR 0. 0004 0.01 mg/L P
SV 0.01 0.1 mg/L =
AU 0. 005 0. 05 mg /L I3
201411 L <0.0003 | 0.1 mg/L B
SVEY 0.002 0.1 mg/L 7
=Y 8 10 mg/L B2
1 2 v
A (LAS) 0. 06 0.5 mg/L =
SR 3.58 5 mg/L =
M 14.5 15 mg/L i
JeRiiEN 0. 04 1 mg/L e
SR <0. 04 1 mg/L =
A 4.72 5 mg/L =
A 11.2 15 mg/L s
Rl 0. 04 1 mg/L 2
SR <0. 04 1 mg/L =
SV <0.0001 | 0.01 mg/L S
S 0. 006 0.1 mg/L 7=
AU <0.004 | 0.05 mg/L 5
‘, LM <0. 0003 0.1 mg/L P
TN T -
%J‘Hﬂi ﬂﬁ‘?@ﬁ]@l‘ 2014_11_13 /E"fgl} <O. 001 0.1 mg/L %
I =EY) 10 10 mg/L I3
PH{H 6. 96 6-9 ToEAN pas
AT E 6. 05 10 mg/L L
L <0.01 0.5 mg/L B2
2 TR A 43 50 mg/L I3
t)g 8 30 % pa
SR 0.00022 [ 0.001 mg/L L
1B 2R s
A (LAS) 0.1 0.5 mg/L 7
A 1.27 5 mg/L B2
A 4. 84 15 mg/L ik
JeRliiE 0. 04 1 mg/L B
SR <0. 04 mg/L 2
PH{} 7.77 6-9 ToEAN Py




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
A T 0.67 10 mg/L I3
KL 0. 63 0.5 mg/L 5 0.3
. N WA TR A 33 50 mg/L i
ol jﬁgigﬂ: 9014-11-19 n)g 8 30 £ pa
AN [ H.
R T Bk 0.00007 | 0.001 mg/L B
s <0.0001 | 0.01 mg/L 2
SR 0. 005 0.1 mg/L ik
S <0.004 | 0.05 mg/L B
Mt 0. 0007 0.1 mg/L ik
SV <0. 001 0.1 mg/L B
=Y 7 10 mg/L 2
12 2 v o
#(LAS) 0. 06 0.5 mg/L =
A 2.29 ] mg/L IE
MA 3.55 20 mg/L P
fiHE 0. 04 3 mg/L B2
SIREA <0. 04 3 mg/L =
2 R A 10 60 mg/L B2
Ny 10 30 % b
SR 0.0001 | 0.001 mg/L B2
SR <0.0001 | 0.01 mg/L P
JESR TS SR 0.013 0.1 mg/L B
Ry hpgmpy - |201471179 AN 0.008 | 0.05 mg/L I
L 0. 0004 0.1 mg/L B2
SVEY 0.002 0.1 mg/L 7
I 10 20 mg/L B2
1B 2R s
A1 (1AS) 0. 05 1 mg/L =
PH{H 7.25 6-9 JoE pass
AN TFAE 1. 42 20 mg/L 7=
Mg 0.49 1 mg/L S
A 1.94 5 mg/L 7=
MEA 3. 62 15 mg/L =
YeRiiES <0. 04 1 mg/L =
A 0. 04 1 mg/L 5
PH{{ 7.67 6-9 JoE 2 =
AL T <0.5 10 mg/L =
Joy iz 0.03 0.5 mg/L P
FR T A T 9 50 mgzL %
JESRTT |9 PRV [2014-11-9 B 4 U fi3 =
KT A <0.00004| 0.001 mg/L B2
ok <0.0001 | 0.01 mg/L L
BB 0. 006 0.1 mg/L &
VAN Ik <0.004 | 0.05 mg/L =
L <0.0003 | 0.1 mg/L B2
ST 0. 004 0.1 mg/L L
BIZY) 10 10 mg/L B
I3 R s
A1 (LAS) 0. 05 0.5 mg/L 7=
PH{ 8.8l 6-9 JoiE pas
N TFAE 7.56 20 mg/L )
JSyiz: 0. 664 1.5 mg/L i
27 T A 49. 7 60 mg/L B2




RKE | gk | BuES IR H HeBOREE | brMERRME | HECasr | BRERAR | SRS
BE 4 30 % ps
IR <0. 010000 0. 001 mg/L =
- KL <0.0001 | 0.01 mg/L &
ﬁiﬁg?& é/!f% <0. 05 0.1 mg/L ;Zé
Bk | 2 dbas |2014- 111 70— 0 <0.004 1 0.0 mg/L. =
VK b3 {éﬁiﬂ 0.00057 | 0.1 mg/L B
= SV <0. 001 0.1 mg/L B2
B 16 20 mg/L ik
BT 72 v .
#(LAS) 0.292 1 mg/L =
FE R R AL 9200 10000 /L Py
T 2. 64 8 mg/L =
JSEAN 6.07 20 mg/L =
Rl 0. 04 3 mg/L B
SR <0. 04 3 mg/L 3
PH{{ 7.22 6-9 ToEAN =
N T 3.23 20 mg/L B
SV 0.522 1.5 mg/L 7
2 R A 26. 35 60 mg/L pis
BE 4 30 % P
Rk <0. 010000 0.001 mg/L =
\ S <0.0001 | 0.01 mg/L -
ﬁig?& é/’f% <0. 05 0.1 mg/L ;:?
Bkl |2 928 2014-11-17 T\\ﬂ)[%% <0. 004 0. 05 mg/L g
e b B /i'é'\ﬁfﬁ 0.00063 | 0.1 mg/L 2=
e S 0.00133 ] 0.1 mg/L =
B =T 16 20 mg/L B

[ 2R v

A1 (LAS) 0.192 1 mg/L P
FEN AR 9200 10000 /L pas
SR 1. 64 8 mg/L B2
M 4.73 20 mg/L i
Rl 0. 04 3 mg/L 5
SR <0. 04 3 mg/L =
PH{H 7.02 6-9 JoE pass
Ak T 3. 46 10 mg/L B
AL 0. 353 0.5 mg/L 2
12 R 21.9 50 mg/L 2=
t)g 2 30 % P
5% 3 <0 010000 0.001 mg/L =
o L3k BIES FPRIERYE | o 140 | o5 mg/L 7
HEAHT IR i _UAS) — _
Hak | Al |2014-11-1 42X EREL | 940 1000 /L £
RN ékik 0.5 5 mg/L S
A VA 4. 24 15 mg/L 2=
PeRiiEN 0. 04 1 mg/L =
SR <0. 04 1 mg/L 2
S <0.0001 | 0.01 mg/L B2
S 0. 05 0.1 mg/L B
S <0.004 [ 0.05 mg/L =




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
M 0. 00058 0.1 mg/L i
SV <0. 001 0.1 mg/L 2
=Y 8 10 mg/L 2
PH{EL 8. 36 6-9 =N =
AT 2.18 20 mg/L ik
Juy iz 0. 397 1.5 mg/L -
e AR 17 60 mg/L St
n)g 4 30 £ pas
SR <0 010000 0.001 mg/L 7
B3 - 1 .
L 5 F (LAS) 0.251 ! mg/L =
v | VKA TE oAl ER I R AL 9200 10000 /L I
AP e [P0 L6 | 8 [ ael | &
3] MA 5.18 20 mg/L P
fiHE 0. 04 3 mg/L B2
SIREA <0. 04 3 mg/L =
SR <0.0001 | 0.01 mg/L B2
SR <0. 05 0.1 mg/L P
NER <0.004 | 0.05 mg/L B2
LM 0. 0004 0.1 mg/L 7
ST <0. 001 0.1 mg/L B2
=T 7 20 mg/L e
PH{ 7. 14 6-9 JoiE N pas
A T A 4. 06 20 mg/L B
LB 0. 464 1.5 mg/L IE
A i e 30.9 60 mg/L 5
JaNES 4 30 1% =
IR <0 010000 0.001 mg/L &
s R A IO S O I
HEKA PR ESY7N ' : 18 —
TR | A E 2248 2014-11-17 /\Q.”% <0.004 | 0.05 mg/L f2
v K b ,‘mﬁﬁiﬂ 0.00053 | 0.1 mg/L =
= ST 0.00116 0.1 mg/L =
Y 8 20 mg/L 7=
1B 2R s
A1 (1AS) 0.24 1 mg/L =
IR A AL 9200 10000 /L pa
A 7.64 8 mg/L I3
JSEA 9.41 20 mg/L s
VRIS 0. 04 3 mg/L I3
ILER/RIE 0. 04 3 mg/L B
PH{{ 7. 17 6-9 JoE =
A TFA R 3.47 20 mg/L B
JSy iz 0. 584 1 mg/L L
A T O 26. 15 60 mg/L B2
aNi 4 30 % =
MR <0 010000 0. 001 mg/L A
S <0.0001 | 0.01 mg/L B2
EINES BB <0. 05 0.1 mg /L 2
e [ FRIEET o0 0 e NS <0.004 [ 0.05 mg/L &




RE | gk | BuES IR H HeBOREE | brMERRME | HECasr | BRERAR | SRS
R FEv T ] it 0.00054 | 0.1 mg /L I
R ] ST <0. 001 0.1 mg/L 2
=Y 8 20 mg/L 2
12 2 v o
#(LAS) 0. 284 1 mg/L =
FE R R AL 9200 10000 /L Py
A 3. 07 15 mg/L B
A 6.51 20 mg/L 2=
YERIIES 0. 04 3 mg/L B
LAY 0. 09 3 mg/L &
PH{{ 7.4 6-9 ToEAN pas
A AL <2 20 mg/L s
JS8iz: 0.597 1.5 mg/L ik
2 i A 13.3 60 mg/L pis
BE 4 30 % =
MR <0. 010000 0. 001 mg/L A
PIE PRITRLE] 13 | mg/l | A
R i _UAS) — _
R | |2014-1 1 o 2EAIAMEL AL | 0200 1 10000 | AL | e
ok e 1. 49 15 mg/L £
Js¥ A 4. 02 20 mg/L -
ZeRliE <0. 004 3 mg/L =
SR <0. 004 3 mg/L pis
SRR <0.0001 | 0.01 mg/L P
SV <0. 05 0.1 mg/L IE
AU <0.004 [ 0.05 mg/L 5
AL i 0.00045 | 0.1 mg/L =
SVEY 0.00148 0.1 mg/L S
Y 6 20 mg/L 7=
PH{H 7.78 6-9 JoE =
AN TFAE 3.03 20 mg/L =
Mg 0. 565 1.5 mg/L S
27 T A 22. 65 60 mg/L =
B 4 30 % pass
Bk <0. 010000 0.001 mg/L P
SR <0.0001 | 0.01 mg/L =
IEAINIES SR <0. 05 0.1 mg/L B2
B X AR . N <0. 004 0.05 mg/L L
e v kogba (20147 i 0.00058 [ 0.1 mg/L B
IR S <0. 001 0.1 mg/L I3
=Y 7 20 mg/L &
I3 R s
5 (LAS) 0.24 1 mg/L 2
N R 9200 10000 /L =
A 2. 05 15 mg/L 12
A 6. 04 20 mg/L L
Rl 0. 04 3 mg/L &
SR <0. 04 3 mg/L I3
BB - s
H(LAS) 0.21 1 mg/L AL
FE R R AL 9200 10000 /L B2




RE | DR | WHE IR | HEBOREE | AevEFRAE | HEBURAL | REENS | RS
A 5.5 8 mg/L St
BA 8.89 20 mg/L i
YERES <0. 04 3 mg/L B
IR/ 0.06 3 mg/L B
- SV <0.0001 | 0.01 mg/L 2
H 1l -

imgg BB <0. 05 0.1 mg /L, B2
=T INUYES <0. 004 0. 05 mg /L B2
FEIEX | AF R |[2014-11-17 v Hi
¥T§7J<5LI\}E /mﬁEF 0. 00048 0.1 ng/L 7E
= SVET 0. 00108 0.1 mg/L 2
=IEY) 8 20 mg/L s
PH{E 7.27 6-9 T4 2
LEAb R 5.12 20 mg/L 2
S 0.711 1 mg/L =
e 41. 3 60 mg/L IE
wg 2 30 ¥ =
SR <0. 010000 0.001 mg/L =
PHAE 7.65 6-9 = 2 =
AL T 4,26 20 mg/L B
S 0. 39 1 mg/L =
W T 37.2 60 mg/L B
=Y 7 20 mg/L IE
AL 2.29 8 mg/L 2
BR 6.37 20 mg/L IE
- A1k <0. 04 3 mg/L B

H 1l — >
imgg S 0. 055 3 mg/L &
wrig gy |4 F iR |2014-11-19 %‘jﬁﬁ@ﬁﬁ 0.119 | mg/L 7

X I5H TR
/EZEZ\% F MBS | 9200 | 10000 | AL =
g 2 30 i P
SR <0. 010000 0.001 mg/L 2
SV <0.0001 [ 0.01 mg/L B2
SLER <0. 05 0.1 mg/L 2
NS <0. 004 0.05 mg/L B
SR i 0. 00044 0.1 mg/L 2
SV <0. 001 0.1 mg/L 2
PH{E 7.12 6-9 JoE N Je
A T <2 20 mg/L 2
L 0. 445 1 mg/L 2
WA T R 12.11 60 mg/L i
Ny 2 30 i &
MR <0. 010000 0.001 mg/L B2
S <0.0001 | 0.01 mg/L i
VAN B4N SR <0. 05 0.1 mg/L 2
i KE5iaE NS <0. 004 0.05 mg/L 2
2014-11-14 :

oA HIRTTAT 0 SR i 0. 00049 0.1 mg/L 2
| SVEY 0. 00146 0.1 mg/L i
BT 17 20 mg/L 2
FH 25 s v o
H(LAS) 0.128 1 mg/L AL
ECONIIEL R 9200 10000 /L =




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
A 0.91 15 mg/L B2
SV 4.23 20 mg/L =
YERIIES 0. 04 3 mg/L B
SIAE Y 0.19 3 mg/L &
ISEA 7.28 20 mg/L i
f s 0. 04 3 mg/L &
SR 0.19 3 mg/L 2
s <0.0001 | 0.01 mg/L 2
SR <0. 05 0.1 mg/L ik
S <0.004 | 0.05 mg/L B
Mt 0.00063 0.1 mg/L ik
SV <0. 001 0.1 mg/L B2
PErE Bb BT 18 20 mg/L =
i W5 KAk i PH{ 7.08 6-9 TeE N I
L | [P e | o 0 | el | 5
) Ui 0. 658 1 mg/L S
1 2 v
A (LAS) 0.171 1 mg/L B2
N R 9200 10000 /L =
g 2 30 i pass
SR <0 010000 0.001 mg/L 7=
A 4. 23 30 mg/L B
2 R A 13.2 100 mg/L pis
PH{{ 7.09 6-9 ToEAN =
N T <2 20 mg/L &
Mg 0. 436 1 mg/L S
27 T A 10. 62 60 mg/L =
B 2 30 % pass
Jo¥ia <0. 010000 0.001 mg/L P
AV <0.0001 | 0.01 mg/L =
4 =]
LB ffﬁ% <<00'00054 00'015 mg;i o
TR (KBt ]|2014-11-11 o : : mg =
AT /\mﬁfﬁ 0.00047 | 0.1 mg/L B2
ALY <0. 001 0.1 mg/L =
S B /] 7 20 mg/L 5
[ 2R v .
5 (1LAS) 0. 165 1 mg/L I
N R 9200 10000 /L =
A 0. 768 8 mg/L 2
A 4.33 20 mg/L L
PeRiiEN 0. 04 3 mg/L =
SR <0. 04 3 mg/L I3
PH{H 7.4 6-9 e pas
AT E 2.81 20 mg/L L
AL 0. 397 1.5 mg/L 2
2 TR A 18 60 mg/L I3
t)g 8 30 % pa
5% 3 <0 010000 0.001 mg/L =
SR <0.0001 ] 0.01 mg/L ik
B el SLES <0.05 0.1 mg/L &




XE @%ﬁiﬁ; BEy H #7 Hﬁ?ﬂﬁgﬁ HeBOR B | ARvEpRAE | HeRasr %ﬁ;tﬁ AR
b A <0.004 | 0.05 mg/L I
EH2 7%5?& 2014=11714 LT 0.00075 | 0.1 mg/L 2
SVEY 0.00141 0.1 mg/L ik
=T 8 20 mg/L =
B3 -2 v .
1 (LAS) 0. 141 1 mg/L =
N REEL 9200 10000 /L =
A 1.29 8 mg/L =
ISEA 4. 01 20 mg/L i
F s 0. 04 3 mg/L &
SR <0. 04 3 mg /L 2
F s 0. 04 3 mg/L &
SR 0.14 3 mg /L 2
328 - 2R T
A1 (LAS) 0.23 1 mg/L =
FE R R AL 9200 10000 /L pis
SR <0 010000 0.001 mg/L 7=
SR <0.0001 | 0.01 mg/L P
EEEEEERS S SR <0. 05 0.1 mg/L B
PG Kb J AU <0.004 | 0.05 mg /L =
RIS g g g 2014711718 i 0.00046 | 0.1 mg/L I
IR/ ST <0. 001 0.1 mg/L B
=Y 7 10 mg/L B2
SR 3.6 5 mg/L B2
M 7.59 10 mg/L i
PH{H 7.81 6-9 JoE pass
AT 4.3 10 mg/L P
Mg 0. 466 0.5 mg/L S
2 T A 35.8 60 mg/L =
B 8 50 % =
[ 7R v
A1 (1LAS) 0.171 0.5 mg/L P
IR R AL 940 1000 mg/L B
SR 1.6 5 mg/L B2
M 5. 86 15 mg/L i
JeRiiEN 0. 04 1 mg/L e
SR <0. 04 1 mg/L =
S <0.0001 | 0.01 mg/L B2
L RS BB <0. 05 0.1 mg/L I3
IR T | FF R IX Y 9014-11-12 AN <0.004 | 0.05 mg/L 1
FFRIX (KA LA 0. 00047 0.1 mg/L =
PR 2 7] ST <0. 001 0.1 mg/L B
BIEY 8 10 mg/L -
PH{H 8.13 6-9 e pas
Ak T 7.6 10 mg/L I3
oy 0.601 1 mg/L =
2 TR A 49. 1 50 mg/L 2=
t)g 2 30 % pa
5% 3 <0 010000 0. 001 mg/L 2
AW CREL <0. 004 ng/L

=D




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
YERIIES 0. 04 3 mg/L B
s <0.0001 | 0.01 mg/L 2
SR <0. 05 0.1 mg/L ik
S <0.004 | 0.05 mg/L B
M 0. 00047 0.1 mg/L ik
SV 0.0011 0.1 mg/L &
v =Y 8 20 mg/L 2
‘ fi”i?;i PH{H 7.1 6-9 | LR 2
FIERLTE ;’I . L AR E 17.4 20 mg/L I
. JFRIX [2014-11-13 I
TERDC ok A 0. 605 1.5 mg/L e
- by 86. 8 60 mg/L i 0.4
n)g 4 30 £ pas
SR <0. 010000 0.001 mg/L Sk
SIREA <0. 04 3 mg/L =
328 - 2R T
A1 (LAS) 0.311 1 mg/L =
FE R R AL 9200 10000 /L pis
SR 2.35 8 mg/L B2
B 5. 81 20 mg/L i
A i e 18.7 60 mg/L B
2014-11-6 A 0. 649 ] mg/L IE
PH{{ 7.63 6-9 T B
N T 2.87 20 mg/L pas
S 0.591 1 mg/L 7
2 T A 20. 7 60 mg/L pis
B 2 30 % pass
Bk <0. 010000 0.001 mg/L P
A E"fa <0.0001 [ 0.01 mg/L ;Zé
R |75 kb L T T m s
DN =)
A |2014-11-13 /\1;[%§ <0.004 | 0.05 mg/L 7=
LMt 0.00048 0.1 mg/L S
ST 0.001265] 0.1 mg/L P
=T 7 20 mg/L e
I 7R v
A1 (1LAS) 0. 1435 1 mg/L P
FEN AR 9200 10000 /L P
A 1. 06 8 mg/L 5
A 3. 89 20 mg/L L
Rl 0. 04 3 mg/L &
SR <0. 04 3 mg/L I3
PH{H 7. 47 6-9 ToEAN pas
TN TFAE <2 10 mg/L I3
Juy iz 0. 39 1 mg/L =
2 TR A 12. 11 50 mg/L 2=
t)g 2 30 % pa
5% 3 <0 010000 0. 001 mg/L 2
AL <0.0001 | 0.01 mg/L ik
T2 Tk S <0. 05 0.1 mg/L B2
e | THTEIKAL o AN e <0.004 | 0.05 mg/L B
BT | g g [ 2014711713 il 0.00062 | 0.1 me/L o




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
| ST <0. 001 0.1 mg/L ik
=T 7 10 mg/L =
I3 -2 s .
A (1AS) 0.121 0.5 mg/L s
IR R AL 940 1000 mg/L B2
A 0.51 5 mg/L i
ISEA 5. 46 15 mg/L i
f s 0. 04 1 mg/L B
SR 0. 07 1 mg /L 2
BT 72 v o
#(LAS) <0. 05 1 mg/L =
FE R R AL 370 10000 /L Py
SR 4. 241 15 mg/L I
B 13.7 20 mg/L i
YERIlES 0. 04 3 mg/L e
SR <0. 04 3 mg/L 3
SR <0.001 0.01 mg/L P
N g)(i SR 0. 01 0.1 mg/L I
TR X 2014-11-27 SN <0.004 | 0.05 mg/L =
ABLIEA LA <0.0002 | 0.1 / &
NG - - : mg/L i
SVEY <0. 005 0.1 mg/L 7
=Y 8 20 mg/L IE
PH{{ 7.03 6-9 Je B
N T 9 20 mg/L &
S 1. 44 1.5 mg/L 7
2 T A 29 60 mg/L B2
B 10 30 % pass
SR <0.00001| 0.001 mg/L 7=
PH{H 7.67 6-9 JoE pass
Ak T 5.1 20 mg/L B
Mg 0. 862 1.5 mg/L S
27 T A 17 60 mg/L i
Ny 8 30 % pass
SR <0.00001| 0.001 mg/L 7=
SV <0.001 0.01 mg/L S
S 0. 01 0.1 mg/L 7=
R N <0.004 | 0.05 mg/L =
BRI | 55 =¥57K(2014-11-11 L <0.0002 | 0.1 mg/L 7=
AbE ST <0. 004 0.1 mg/L B2
BIEY 12 20 mg/L -
1B 2R s
A (LAS) 0. 05 1 mg/L 7
IR A AL 110 10000 /L pa
A 14. 69 15 mg/L =
JSEA 18. 4 20 mg/L P
VeI 0. 04 3 mg/L I3
ILER/RIE 0. 04 3 mg/L B
I3 R s .
A1 (LAS) 0. 064 0.5 mg/L 7=
IR R AL 100 1000 /L pas
A 0. 244 8 mg/L 3
ISEA 13.9 15 mg/L i
fHE 0. 04 1 mg/L B




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
SR 0.07 1 mg/L 2
s <0. 001 0.01 mg/L 2
R SR 0. 01 0.1 mg/L B
HEEIX [ 55 —V5 7K [2014-11-20) AN <0. 004 0.05 mg/L 5=
VOSEY psy i <0. 0002 0.1 mg/L ik
SV <0. 005 0.1 mg/L i
=Y 6 10 mg/L 2
PH{EL 7.41 6-9 JoE =
A T 3.7 10 mg/L I3
Juy iz 0. 407 0.5 mg/L -
W T 14 50 mg/L St
n)g 4 30 £ pas
SR <0.00001| 0.001 mg/L ik
328 - 2R T
A1 (LAS) 0.07 0.5 mg/L =
FE R R AL 90 1000 /L pis
SR 0. 053 8 mg/L 2=
B 13.9 15 mg/L iy
YERIlES 0. 04 1 mg/L e
SR 0.07 1 mg/L 3
SR <0.001 0.01 mg/L P
ERGEE ] SR 0. 01 0.1 mg/L B2
U R X | 7K 554 |2014-11-19 SN <0.004 | 0.05 mg/L B
PR W] LR <0.0002 | 0.1 mg/L B2
SVEY <0. 005 0.1 mg/L 7
I 9 10 mg/L B2
PH{H 7.33 6-9 JoE pass
AT 9.13 10 mg/L P
Mg 0. 454 0.5 mg/L S
2 T A 34 50 mg/L =
Ny 4 30 % pas
SR <0.00001| 0.001 mg/L 7=
PH{H 6.57 6-9 e pass
AT 3.4 10 mg/L P
Mg 0. 164 0.5 mg/L S
27 T A 13 50 mg/L =
Ny 4 30 % pas
SR <0.00001| 0.001 mg/L 7=
S <0. 001 0.01 mg/L B2
EWAL A BB <0.01 0.1 mg/L I3
T E?@%iﬁﬁ Nir%ﬁ <0.004 [ 0.05 mg/L %
£ I PTG KAk [2014-11-27 gaﬁa <0.0002 | 0.1 mg/L i
AR A ST <0. 005 0.1 mg/L B2
C| poSe /] 7 10 mg/L =
1B 2R s
A (LAS) 0. 05 0.5 mg/L 7
IR A AL 210 1000 /L pas
A 6. 528 8 mg/L =
JSEA 12.5 15 mg/L 5
YeRiiES 0. 04 1 mg/L I3
ILER/RIE 0. 04 1 mg/L &
BT FRIEEYE | ge3 | 0.5 mg/L 7

7l (LAS)




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
IR R AL 150 1000 /L &
A 6. 377 8 mg/L B2
MA 9. 87 15 mg/L ik
F s 0. 04 1 mg/L B
BRI 0.18 1 mg/L 2
El y H SV <0. 001 0.01 mg/L i
E'in7kﬁ ik 0. 01 0.1 mg/L I
ERA fiﬂgﬁa/\ 2014-11-19 ik 0.004 | 0.05 | mg/L =
4 A i 0.0002| 0.1 /L 2
SV <0. 005 0.1 mg/L i
=Y 9 10 mg/L 2
PH{EL 7.76 6-9 JoE =
A T 9.5 10 mg/L B
Ui 0. 439 0.5 mg/L IE
A i e 47 50 mg/L B
g 4 30 i pass
SR <0.00001| 0.001 mg/L 7
328 - 2R T .
H1(LAS) <0.05 0.5 mg/L =
FE R R AL 90 1000 /L pis
SR 1.377 8 mg/L B2
A 8.9 15 mg/L B
ZeRliE 0. 04 1 mg/L B
SR <0. 04 1 mg/L 3
K (B Eg <<00. 00011 oo. 011 mg/L ;:?
?{‘1) \J;iﬂ( :L‘n . . ng/L JE
B2 L &Jﬁﬂjﬁ_ﬁﬁ 2014-11-13 N <0.004 | 0.05 mg/L =
A S fif <0.0002 [ 0.1 mg/L s
SVEY <0. 005 0.1 mg/L S
Y 6 10 mg/L s
PH{H 6. 37 6-9 JoE =
Ak T 9.4 10 mg/L B
Mg 0. 46 0.5 mg/L S
27 T A 43 50 mg/L =
B 4 30 % pass
SR <0.00001| 0.001 mg/L =
1B 2R s .
A1 (1AS) 0.106 0.5 mg/L =
IR A AL 160 1000 /L pas
A 0. 038 8 mg/L I3
B 13.98 15 mg/L 2
o HLs VRIS 0. 04 1 mg/L I3
%&%g EITL7ED <0. 04 | g/ %
R {3% <0. 001 0.01 mg/L f2
N SR AT E'%% <0.01 0.1 mg/L B2
T T 2014-11-6 N <0.004 | 0.05 mg/L I3
SRk ,':éﬁﬁlﬂ <0. 0002 0.1 mg/L B
PETVION ;éf;ﬁ <0. 005 0.1 mg/L I3
A =Y 8 10 mg/L &
PH{ 7.8 6-9 JoiE pas
N TFAE 8.4 10 mg/L B2
JSyiz: 0.427 0.5 mg/L i
Wi T R 33 50 mg/L AL




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
N 10 30 % pas
EIR <0.00001| 0.001 mg/L 2
I3 -2 s .
H (1LAS) <0. 05 1 mg/L =
IR R AL 120 10000 /L 5
AR 14. 42 15 mg/L i
MA 17. 4 20 mg/L ik
f s 0. 04 3 mg/L &
SR 0. 09 3 mg /L 2
75 5 5 s <0.001 | 0.01 mg/L &
KA PR TE SR 0. 01 0.1 mg /L B
o b [fEAFSE [2014-11-12 N <0.004 | 0.05 mg/L B
K AL psy i <0. 0002 0.1 mg/L ik
B SV <0. 005 0.1 mg/L B2
BIEY) 7 20 mg/L e
PH/{H 7.58 6-9 =N =
A T A 3.7 20 mg/L B
S 0.427 1.5 mg/L P
A i 17 60 mg/L B
g 4 30 i pass
SR <0.00001| 0.001 mg/L 7
328 - 2R T
A1 (LAS) <0. 05 0.5 mg/L =
FE R R AL 130 1000 /L I3
SR 0. 622 8 mg/L B2
M 5. 61 15 mg/L i
JeRiiEN 0. 04 1 mg/L e
SR 0. 06 1 mg/L =
oy B E: zg <<00. 00011 Od 011 mg/L %
. WK 5 <5 : : mg/L P
Pty H VPN 2014-11-12 SN <0.004 | 0.05 mg/L =
%Tfﬁ” il 0.0002] 0.1 mg/L H
SVEY <0. 005 0.1 mg/L S
I 8 10 mg/L 7=
PH{H 6.53 6-9 e pass
Ak T 9.5 10 mg/L B
Mg 0.283 0.5 mg/L S
27 T A 43 50 mg/L =
t)g 4 30 % pa
SR <0.00001] 0.001 mg/L L
1B 2R s
A (LAS) 0. 05 0.5 mg/L 7
IR A AL 90 1000 /L pas
AR 1. 683 8 mg/L 2
JSEA 4.92 15 mg/L P
VeI 0. 04 1 mg/L I3
ILER/RIE 0.07 1 mg/L &
Ze 5L S AL <0. 001 0.01 mg/L I3
KA B 5 ey <0.01 0.1 mg/L &
FOEE A |2014-11-18 SN <0.004 | 0.05 mg/L 2
INY5 K AL L <0.0002 | 0.1 mg/L )
M SVEY <0. 005 0.1 mg/L i
=Y 7 10 mg/L AL




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
PH{{ 7.55 6-9 JoEAN pas
A T A 6. 45 10 mg/L s
JS8iz: 0.231 0.5 mg/L ik
g T AR 15 50 mg/L =
BE 4 30 % &
EIR <0.00001| 0.001 mg/L 2
PH{{ 7.57 6-9 ToEAN pas
A T A 4.6 10 mg/L s
JSRiz: 0.17 1 mg/L ik
i T e 18 50 mg/L B2
BE 10 30 % &
EIR <0.00001| 0.001 mg/L 2
Ze e 19 If 'é'f% <0. 001 0.01 mg/L ;:}?
X T é%% 0. 01 0.1 mg/L I
RERZ KA AN <0.004 | 0.05 mg/L £
PR ARTT /\j%ﬁ 2014-11-6 LR <0.0002 | 0.1 mg/L -
KX ‘;;7]? A 0.005 | 0.1 me/L I
?}j) =IE) 6 10 mg/L =
1 2 v
A (LAS) 0.16 0.5 mg/L =
IR R AL 230 1000 /L B
TR 0.185 8 mg/L =
MA 11.8 15 mg/L P
fHE 0. 04 1 mg/L B2
SIREA <0. 04 1 mg/L =
PH/{H 7.76 6-9 o =
A T A 7.4 10 mg/L 5
Joy iz 0. 488 0.5 mg/L P
A i U 39 50 mg/L 5
o 4 30 1% =
S 0.1 1 mg/L s
g F A{%:/%EF@ 8 10 mg/L I
v o g | RIS TR PIE PRI 0 09 | 0.5 | met B
RENA KA 7 (LAS)
TFRORTT N (g 2014711718 ELNI L 2 210 1000 AN/L £
KX i‘fai?% * A 0.31 8 mg/L 1
L) SR 14.2 15 mg/L =
YeRiiES <0. 04 1 mg/L =
R <0.00001| 0.001 mg/L B2
S <0. 001 0.01 mg/L L
B <0.01 0.1 mg/L 2
VAN Ik <0.004 | 0.05 mg/L =
L <0.0002 | 0.1 mg/L 2
ST <0. 005 0.1 mg/L L
PH{E. 8. 02 6-9 e =
Ak T 3.8 20 mg/L I3
oy 0.97 1 mg/L =
2 TR A 17 60 mg/L I3
t)g 4 30 % P
SR <0.00001] 0.001 mg/L ik
HEHE T SR <0.0005 | 0.01 mg/L )
B5 7K Ak S <0. 004 0.1 mg/L B
i VEEABRS  ony s 1 aa AR <0.004 [ 0.05 mg/L =




A FR g IRy 5| HBOR B | ArvEPRAE | HEasr | REER
(RNl L 0.00196 | 0.1 mg /L B
757K AL 2] ST <0.0025 | 0.1 mg/L 2
] BT <4 20 mg/L 7=
12 2 v o
#(LAS) 0. 066 1 mg/L =
A 1.23 15 mg/L B2
ISEA 15. 6 20 mg/L i
f s 0. 04 3 mg/L &
SR <0. 04 3 mg /L 2
PH{EL 8. 09 6-9 JoE =
A T 3.9 10 mg/L B
SR 0.41 0.5 mg/L =
WEE T AR 15 50 mg/L St
g 4 30 i pass
SR <0.00001| 0.001 mg/L 7
SV <0.0005 ] 0.01 mg/L P
E TIPS AR <0. 004 0.1 mg/L B
AR K 9014-11-1 NS <0.004 | 0.05 mg/L I
B 5T AL 0.0021 0.1 mg/L 2=
YT SV <0.0025 | 0.1 mg/L B2
BIZY) <4 10 mg/L =
328 - 2R T
A1 (LAS) <0. 05 0.5 mg/L =
AR 2.2 8 mg/L =
ISEA 5. 42 15 mg/L P
fHE 0. 04 1 mg/L B2
A 0. 04 1 mg/L 5
PHAH 7.96 6-9 JeEN =
A T A 3.7 10 mg/L 5
Joy iz 0. 407 0.5 mg/L P
A i U 19 50 mg/L B
JaNES 4 30 1% =
SR <0.00001| 0.001 mg/L S
AL <0.0005 | 0.01 mg/L P
e SV <0. 004 0.1 mg/L S
jfggfg 9014-11-1 Nﬁ%% <0.004 | 0.05 mg/L 7=
A M 0.0015 0.1 mg/L S
S <0.0025 | 0.1 mg/L 7=
BIZY) <4 10 mg/L =
B3 2R s .
A1 (LAS) 0. 05 0.5 mg/L 7=
A 1.4 8 mg/L =
SR 5 15 mg/L B
VRIS 0. 04 1 mg/L I3
ILER/RIE 0. 04 1 mg/L &
PH{{ 7.89 6-9 Jo 2 pas
A TFA R 3.8 10 mg/L B
JSy iz 0. 47 0.5 mg/L L
A T 11 50 mg/L B2
JaNEs 4 30 % pas
I i EZJE <0.00001| 0.001 mg/L %
- KR <0.0005 | 0.01 mg/L B
BRAT ik 0.004 | 0.1 /L T
b BNTH # i . . mg 7E




XE Jﬁ;{kﬁfg BEy H #7 IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
Wik [X | AT [2014-11-1 2 <0.004 | 0.05 | ma/L i
(Wit /‘wﬁﬁﬁ 0.000202] 0.1 mg/L 2
- 'é fﬁ <0.0025 | 0.1 mg/L £
i D21 R R I B
2 e .
1 (LAS) 0. 051 0.5 mg/L =
A 1.53 8 mg/L I
LV 12.2 15 mg/L =
YERIIES 0. 04 1 mg/L B
LAY 0. 04 1 mg/L B
PH{{ 8. 05 6-9 ToEAN pas
N TFA 4 30 mg/L B
JS8iz: 0. 707 3 mg/L ik
RSN 17 100 mg/L =
BE 4 40 % =
SR <0.00001| 0.001 mg/L -
HEHE T AL <0.0005 | 0.01 mg/L =
By K Ak SR <0. 004 0.1 mg/L B
\ AR T3 U <0.004 | 0.05 mg/L =
MR fEA T 2R 20141 SN 0.00134| 0.1 mg/L 3
157K AL B S <0. 0025 0.1 mg/L P
] =IE) {4 30 mg/L =
1 - v .
A (LAS) 0. 05 2 mg/L B2
SR 2.75 30 mg/L B2
SR 12.9 mg/L
JeRiiEN 0. 04 5 mg/L 5
SR <0. 04 5 mg/L =
PH{H 8. 14 6-9 JoE pass
Ak T 3.95 30 mg/L B
Mg 0. 661 3 mg/L S
27 T A 29 100 mg/L =
Ny 2 40 % pass
SR <0.00001| 0.001 mg/L =
SV <0.0005 ] 0.01 mg/L S
e S <0. 004 0.1 mg/L 7=
e ﬁwjﬁﬁﬁ o SN <0.004 | 0.05 mg/L i
PP B [v5/KAHE 12014111 il 5 00106 = L
Ny i : - mg/l. L e
SV <0.0025 | 0.1 mg/L 2
BIEY <4 30 mg/L -
1B 2R s o
A (LAS) 0.077 2 mg/L A
A 5. 36 30 mg/L 12
A 22. 1 mg/L
Rl 0. 04 5 mg/L &
SR <0. 04 5 mg/L I3
PH{E. 8.19 6-9 JoE =
Ak T 3.9 10 mg/L I3
L 0.48 0.5 mg/L B2
2 TR A 18 50 mg/L I3
JaaNEs 4 30 % pas
SR <0.00001| 0.001 mg/L i
S <0.0005 | 0.01 mg/L 2




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
SR <0. 004 0.1 mg/L B
v | IR ELTS i T <0.004 | 0.05 mg/L 2
S | g (20147111 il 0.00368 | 0.1 me/L L
SV <0.0025 | 0.1 mg/L 2
BT <4 10 mg/L ik
BT 2 v o
#(LAS) 0. 057 0.5 mg/L =
A 0.153 8 mg/L B2
ISEA 14.5 15 mg/L i
F s 0. 04 1 mg/L B
SR <0. 04 1 mg/L 2
PH{H 8. 02 6-9 ToEN =
A T 5.1 10 mg/L I3
Juy iz 0.154 0.5 mg/L B
A i e 46 50 mg /L e
g 8 30 i pass
SR <0.00001| 0.001 mg/L 7
SV <0.0005 ] 0.01 mg/L P
SR <0. 004 0.1 mg/L P
oy | R EIR VAN ke <0.004 | 0.05 mg/L 3
EES A 20141 LR 0. 00109 0.1 mg/L 2=
ST <0.0025 | 0.1 mg/L B2
BIEY <4 10 mg/L 7
I3 28 - 2R T
A1 (LAS) 0. 068 0.5 mg/L =
A 2.3 ] mg/L IE
MEA 14.8 15 mg/L =
YeRiiES <0. 04 1 mg/L =
S 0. 04 1 mg/L 5
PH{}{ 7.92 6-9 JoE 2 =
A T A 4 20 mg/L B
AL 0. 68 1 mg/L 7=
A i U 14 60 mg/L 5
JaNES 4 30 1% =
SR <0.00001| 0.001 mg/L S
ok <0.0005 | 0.01 mg/L P
SR <0. 004 0.1 mg/L =
K44 ;
VAN ke <0.004 | 0.05 mg/L 7=
K& H 7ki§ﬁﬁ 2014-11-11 Sl 05033 = - "
ST <0. 0025 0.1 mg/L L
BIZY) <4 20 mg/L =
I3 2R s .
A1 (LAS) 0. 067 1 mg/L 7=
A 1. 22 15 mg/L B
JSEA 19.5 20 mg/L P
VeI 0. 04 3 mg/L I3
ILER/RIE 0. 04 3 mg/L B
PH{{ 7.92 6-9 Jo 2 =
A TFA R 2.8 10 mg/L B2
JSy iz 0. 47 0.5 mg/L ik
A T 14 50 mg/L B2
i 2 30 e pas
R <0.00001| 0.001 mg/L 2




XE | gk | SRES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
SR <0.0005] 0.01 mg/L ik
b ] et SLES <0. 004 0.1 mg/L &
i =i ;
. et L AUES <0.004 [ 0.05 mg/L 2
¥ & Eﬂ}%ﬁ 2014=11 LT 0.00154 | 0.1 mg/L 2
SVEY <0. 0025 0.1 mg/L ik
=Y <4 10 mg/L pats
B3 2 v .
A (1AS) 0.013 0.5 mg/L s
SR 0.118 8 mg/L I
LV 14.2 15 mg/L =
YERIIES 0. 04 1 mg/L B
LAY 0. 04 1 mg/L B
PH{{ 8.13 6-9 ToEAN pas
AN T 3.2 30 mg/L pas
SV 1.98 3 mg/L 7
RSN 42 100 mg/L =
B 2 40 % &
SR <0.00001| 0.001 mg/L I
RERER Eg <Od O00034 Od O11 mg;i Z:?
X B R4 — . : - L
WoH | 2014-11-6 /\Eﬂl;[%% <0.004 | 0.05 mg/L f2
VK Lh ,‘mﬁﬂﬂ 0.00323 ] 0.1 mg/L B
(A ] T E\f’& <0. 0025 0.1 mg/L 2=
=Y <4 30 mg/L g3
1 2 v
A (LAS) 0.013 2 mg/L =
SR 2.52 30 mg/L =
M 41.9 mg/L
UeRliiE 0. 04 5 mg/L 5
SR <0. 04 5 mg/L =
PH{H 8. 12 6-9 JoE =
Ak T 3.9 10 mg/L B
Mg 0.418 0.5 mg/L S
27 T A 22 50 mg/L =
B 4 30 % pass
SR <0.00001| 0.001 mg/L 7=
SV <0.0005 ] 0.01 mg/L S
S <0. 004 0.1 mg/L 7=
" i By K VAN <0.004 [ 0.05 mg/L B2
L ALFE 2014-11=3 L fif 0. 00097 0.1 mg/L L
SV <0.0025 | 0.1 mg/L B2
BIEY <4 10 mg/L -
1B 2R s
A (LAS) 0. 05 0.5 mg/L 7
A 3.03 8 mg/L 2
A 2.61 15 mg/L L
Rl 0. 04 1 mg/L B
SR <0. 04 1 mg/L I3
PH{H 7.73 6-9 ToEAN pas
AT E 3.5 30 mg/L ik
L 0. 744 3 mg/L B2
2 T A 40 100 mg/L ps
JaaNEs 4 40 % pas




XE | gk | SRES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
SR <0.00001| 0.001 mg/L i
AR <0.0005 | 0.01 mg/L 2
B | o=l SR 0. 007 0.1 mg/L ik
L a4 NS <0.004 | 0.05 mg/L B2
W= JBe A A7 B 20147113 L 0. 00091 0.1 mg/L B
YN ST <0.0025 | 0.1 mg/L 2
B <4 30 mg/L ik
BT 72 v o
#(LAS) 0. 136 2 mg/L =
A 2. 08 30 mg/L B2
MA 13.5 mg/L
F s 0. 04 5 mg/L &
SR <0. 04 5 mg/L 2
PH/{H 7.75 6-9 TN =
A T A 3.9 10 mg/L B
i 0.3 0.5 mg/L S
AR E TN 22 50 mg/L e
g 2 30 i pass
SR <0.00001| 0.001 mg/L 7
SV <0.0005 ] 0.01 mg/L P
SR <0. 004 0.1 mg/L P
[ VAN ke <0.004 | 0.05 mg/L B2
2 & TKALBE) 201471176 JSY i 0. 00253 0.1 mg/L P
ST <0.0025 | 0.1 mg/L B2
BIEY <4 10 mg/L 7
328 - 2R T
A1 (1LAS) 0. 063 0.5 mg/L P
A 1. 46 8 mg/L 7=
MEA 12.2 15 mg/L =
YeRiiES <0. 04 1 mg/L =
S 0. 04 1 mg/L B
PH{{ 7.74 6-9 JoiE 2 =
A T A 3.9 10 mg/L 5
Joy iz 0.37 0.5 mg/L P
A i U 10 50 mg/L 5
JaNES 2 30 1% =
SR <0.00001| 0.001 mg/L S
ok <0.0005 | 0.01 mg/L P
4 E
o [ oo 00 e |
K %l ST 0.0016 0.1 mg/L B2
ST <0. 0025 0.1 mg/L L
=T <4 10 mg/L pas
I3 R s o
A1 (LAS) 0. 053 0.5 mg/L 7=
A 1.01 8 mg/L =
JSEA 11.6 15 mg/L 5
VRIS 0. 04 1 mg/L I3
ILER/RIE 0. 04 1 mg/L &
PH{ 7.94 6-9 JoiE pas
N TFAE 3.7 10 mg/L )
JSyiz: 0.41 0.5 mg/L i
A i 36 50 mg/L =




XE | gk | SRES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
BE 8 30 % pas
EIR <0.00001| 0.001 mg/L 2
SR <0.0005 ] 0.01 mg/L ik
EER <0. 004 0.1 mg/L 2
GBEy5K AUES <0.004 [ 0.05 mg /L 2
BB gy (20147116 il 0,026 | 0.1 | met | o
SVEY <0. 0025 0.1 mg/L ik
I <4 10 mg/L pats
B3 - 1 .
A (1AS) 0. 055 0.5 mg/L s
A 1.27 8 mg/L I
JSEAN 0. 98 15 mg/L =
YERIIES 0. 04 1 mg/L B
SR <0. 04 1 mg/L I
PH{{ 7.94 6-9 ToEAN =
AN TFA 3.8 10 mg/L pas
SV 0.417 0.5 mg/L 7
2 R A 17 50 mg/L B2
BE 4 30 % =
SR <0.00001| 0.001 mg/L I
SR <0.0005 ] 0.01 mg/L P
NS <0. 004 0.1 mg/L I
o | SRS i U <0.004 | 0.05 mg/L =
AR JKALH ) 20147117 LR 0.00154 | 0.1 mg/L B2
SVEY <0. 0025 0.1 mg/L 7
=Y <4 10 mg/L g3
1B 2R s
A1 (1AS) 0. 058 0.5 mg/L =
A 6. 1 8 mg/L 5
M 12.8 15 mg/L J
Rl 0. 04 1 mg/L B
SR <0. 04 1 mg/L =
PH{H 8. 02 6-9 e pass
AT 3.8 10 mg/L P
Mg 0. 36 0.5 mg/L S
27 T A 26 50 mg/L =
B 4 30 % pas
SR <0.00001| 0.001 mg/L 7=
SR <0.0005 | 0.01 mg/L B2
SR <0. 004 0.1 mg/L L
]S i S <0.004 [ 0.05 mg/L B2
Jork JKALBE) 201471176 L fif 0.00273 0.1 mg/L L
SV <0.0025 | 0.1 mg/L B2
BIEY <4 10 mg/L -
1B 2R s
A (LAS) 0. 05 0.5 mg/L 7
A 4.1 8 mg/L B2
A 12.6 15 mg/L L
Rl 0. 04 1 mg/L B
SR <0. 04 1 mg/L I3
PH{H 7.84 6-9 ToEAN Py
A T 4 10 mg/L B
KL 0.197 0.5 mg/L 2




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
WeE T AR 24 50 mg/L St
n)g 4 30 £ pa
SR <0.00001| 0.001 mg/L ik
psgi <0.0005 | 0.01 mg/L 2
T B B K SR <0. 004 0.1 mg/L B
Vg /KAb AN <0.004 | 0.05 mg/L Iz
Pl 2 AR 2014111 Sy 0. 00169 0.1 mg/L 7=
] SV <0.0025 | 0.1 mg/L B
B <4 10 mg/L ik
BT 72 v o
#(LAS) 0. 046 0.5 mg/L =
A 4.04 8 mg/L i
ISEA 14.2 15 mg/L i
fiHE 0. 04 1 mg/L B2
SIREA <0. 04 1 mg/L =
PH/{H 7.94 6-9 =N =
A T A 3.8 10 mg/L B
i 0. 48 0.5 mg/L IE
A i 19 50 mg/L B
g 8 30 i pass
SR <0.00001| 0.001 mg/L 7
SV <0.0005 ] 0.01 mg/L P
SR <0. 004 0.1 mg/L P
BE5K VAN ke <0.004 | 0.05 mg/L 3
oA SOV 20141 St 0.00399 0.1 mg/L P
ST <0.0025 | 0.1 mg/L B2
BIZY) <4 10 mg/L e
[ 2R v
A1 (1LAS) 0. 068 0.5 mg/L P
A 4. 38 8 mg/L 7=
MEA 14.9 15 mg/L =
YeRiiES <0. 04 1 mg/L =
S 0. 04 1 mg/L 5
PH{{ 8. 03 6-9 Tt s
A T A 3.2 30 mg/L 5
Joy iz 1.47 3 mg/L P
A i U 15 100 mg/L 5
JaNES 7 40 1% =
R <0.00001| 0.001 mg/L B2
S <0.0005 | 0.01 mg/L L
4 E
) £ Hﬁiiﬁ 2014-11-6 ﬂbﬁ% 28 ggi 00-.015 fmﬂgﬁi I
| - a il 0.00348 | 0.1 /L =
ST <0. 0025 0.1 mg/L L
BIZY) <4 30 mg/L =
B3 2R s .
A1 (LAS) 0. 055 2 mg/L 7=
A 0. 187 30 mg/L =
SR 5. 68 mg/L
YeRiiES 0. 04 5 mg/L I3
ILER/RIE 0. 04 5 mg/L )
PH{{ 8.13 6-9 JoEAN pas
N FFE 4 10 mg/L B




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
LT 0. 45 0.5 mg/L i
i T e 10 50 mg/L 2
iy 4 30 % b
EIR <0.00001| 0.001 mg/L 2
SR <0.0005 ] 0.01 mg/L ik
4 E
B L | /ﬁuﬁﬁ% 28: ggj 09'015 Eiﬁ E
el %E?E 20141112 il 0.00233 | 0.1 g/ =
SVET <0. 0025 0.1 mg/L ik
=IEY) <4 10 mg/L B
B3 - 1 .
A (1AS) 0. 062 0.5 mg/L s
A 3.71 8 mg/L I
BR 14. 8 15 mg/L i
YERIlES 0. 04 1 mg/L e
SR <0. 04 1 mg/L 3
ZeRliE 0. 08 1 mg/L I3
SR 0. 09 1 mg/L 3
BIEY 10 10 mg/L =
SVEE <0. 05 1 mg/L IE
1 2 s
A (LAS) 0. 05 0.5 mg/L =
IR R AL 330 1000 mg/L B
AR 0.817 5 mg/L =
S 5.37 15 mg/L P
& iy KL <0.0001 [ 0.01 mg/L i
MrARIX. e 2014-11-5 g <0. 004 0.1 mg/L =
VAN ke <0.004 | 0.05 mg/L 7=
M <0. 0001 0.1 mg/L S
A <0. 001 0.1 mg/L =
okl <0. 05 0.5 mg/L S
PH{{ 7.36 6-9 JoiE 2 =
A T A 2.4 10 mg/L 5
Joy iz 0. 45 1 mg/L P
A i U 36 50 mg/L 5
JaNES 20 30 1% =
SR <0.0001 | 0.001 mg/L S
YeRiiES 0. 08 5 mg/L =
ILER/RIE 0. 09 5 mg/L B2
BIEY 10 30 mg/L -
SV <0. 05 1 mg/L &
I3 2R s .
A1 (LAS) 0. 05 2 mg/L 2
N R 460 10000 /L =
A 0. 802 25 mg/L &
S REYH MR 7.63 mg/L
JBeAn 17 PR S <0.0001 | 0.01 mg/L B
HRPEIX | AFIRE |2014-11-12 Jakk <0. 004 0.1 mg/L 2=
W5 7K Ak INIES <0.004 [ 0.05 mg/L B2
I Sy il <0. 0001 0.1 mg/L ik
SV <0. 001 0.1 mg/L 2
ps%id <0. 05 0.5 mg/L i
PH{{L 8 69 [ kA | £




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
A T 2 30 mg/L B
L 0.43 3 mg/L o
e AR 21 100 mg/L St
anic 10 40 i pass
SR <0.0001 | 0.001 mg/L ik
PH{EL 7. 47 6-9 ey =
A T 2 10 mg/L B
L 0.4 0.5 mg/L o
W T 16 50 mg/L St
anic 20 30 £ yis
SR <0.0001 | 0.001 mg/L ik
s <0.0001 | 0.01 mg/L 2
SR <0. 004 0.1 mg/L ik
NER <0.004 | 0.05 mg/L B2
I3 EL VIR AL <0. 0001 0.1 mg/L 2=
R | VTy5 7K Ak [2014-11-13 SV <0. 001 0.1 mg/L I
M VR <0. 05 0.5 mg/L 7
=Y 10 10 mg/L IE
SEE <0. 05 1 mg/L 7
328 - 2R T
A1 (LAS) <0. 05 0.5 mg/L =
FE R R AL 490 1000 /L I3
SR 2.9 5 mg/L B
S 8.6 15 mg/L B
ZeRliE 0. 09 1 mg/L I3
SR 0.08 1 mg/L 3
1B 2R s
A1 (1AS) 0. 05 2 mg/L =
PN R 330 10000 /L =
A 0. 097 25 mg/L B
M 4. 28 mg/L
YeRiiES 0. 09 5 mg/L =
S 0.1 5 mg/L s
VAN ke <0.004 | 0.05 mg/L 7=
SR L <0. 0001 0.1 mg/L 5
JE A PR ALY <0. 001 0.1 mg/L 7=
WIE | AF ARPE[2014-11-12 el <0. 05 0.5 mg/L =
W5 7K Ak =IEY) 9 30 mg/L i
M SVBE <0. 05 1 mg/L P
JSy iz 0.4 3 mg/L L
A T O 10 100 mg/L B2
aNi 10 40 % =
R <0.0001 | 0.001 mg/L B2
SR <0.0001 | 0.01 mg/L L
S <0. 004 0.1 mg/L B2
PH{{ 7.52 6-9 Jo 2 pas
A TFA R 2 30 mg/L &
ST <0. 001 0.1 mg/L L
S <0. 05 0.5 mg/L B2
BIEY 8 10 mg/L =
SV <0. 05 1 mg/L &
BIES FRIERYE | o 05 | 0.5 mg/L 7

7l (LAS)




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
IR R AL 490 1000 /L &
anic 20 30 £ yas
SR <0.0001 | 0.001 mg/L ik
TR & v B pogi <0.0001 | 0.01 mg/L 2
WS [IAKSA|2014-11-18 ey <0. 004 0.1 mg/L I
PR 2 W] NS <0.004 | 0.05 mg/L 2
Mt <0. 0001 0.1 mg/L ik
A 0. 799 5 mg/L B2
ISEA 6.88 15 mg/L i
YRS 0.12 1 mg/L =
SFE A 0.1 1 mg/L Ik
PH{E. 7.52 6-9 JoE =
A T 4 10 mg/L B
Juy iz 0. 45 0.5 mg/L B
A i e 20 50 mg/L B
PH/{H 7.59 6-9 =N =
A T A 2.2 10 mg/L B
i 0.4 0.5 mg/L IE
A i 12 50 mg/L B
g 10 30 i pass
SR <0.0001 | 0.001 mg/L 7
PERiiES 0.08 1 mg/L g3
SIREA 0. 09 1 mg/L =
=Y 10 10 mg/L IE
- MEE <0. 05 1 mg/L B
UEEEE N — —
WZE gy [POL4112 Bﬂiﬁ%ﬁﬁ&@ <0.05 | 0.5 mg/L. 7
7 (LAS)
IR R AL 490 1000 /L pas
SR 2. 42 5 mg/L =
M 3. 89 15 mg/L J
SV <0.0001 | 0.01 mg/L S
S <0. 004 0.1 mg/L 7=
AU <0.004 [ 0.05 mg/L 5
S <0. 0001 0.1 mg/L 7=
SVEY <0.001 0.1 mg/L S
A <0. 05 0.5 mg/L P
PH{ 7. 47 6-9 JoAN 5
N T 4 10 mg/L =
AL 0.45 0.5 mg/L B2
2 TR A 48 50 mg/L I3
A 4. 49 5 mg/L B2
A 7.79 15 mg/L L
Rl 0. 09 1 mg/L 5
SR 0. 09 1 mg/L I3
SV <0. 001 0.1 mg/L B2
b 58 Lk St 0. 05 0.5 mg/L I3
FEFe B | By /KAR|2014-11-15 BEY 8 10 mg/L &
L SEE 0. 05 1 mg/L At
1B 2R s
A (LAS) 0. 05 0.5 mg/L 7
IR R 700 1000 /L Py
i 20 30 e pas
R <0.0001 | 0.001 mg/L 2




XE | gk | SRES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR

SR <0.0001 ] 0.01 mg/L ik
EER <0. 004 0.1 mg/L 2
VAN <0.004 | 0.05 mg/L 7=
LR <0. 0001 0.1 mg/L 2

A i e 56 50 mg/L i 0.1
anic 20 30 £ pas
SR <0.0001 | 0.001 mg/L ik
AR <0.0001 | 0.01 mg/L 2
SR <0. 004 0.1 mg/L ik
S <0.004 | 0.05 mg/L B
Mt <0. 0001 0.1 mg/L ik
SV <0. 001 0.1 mg/L 2
VR <0. 05 0.5 mg/L ik
- =IE) 10 10 mg/L =
£ A FERTSAC 0141120 B <0. 05 1 mg/L I

AbBE) — -

328 - 2R T <0. 05 0.5 s o
#] (LAS) ' ' e =
FE R R AL 700 1000 /L I3

SR 46. 5 5 mg/L 5 8.3

SA 51.3 15 mg/L %5 2.4
Rl 0. 09 1 mg /L I3
SR 0.08 1 mg/L 3
PH{{ 7.54 6-9 ToEAN =
N T 2.8 10 mg/L pas
S 0. 43 0.5 mg/L 7

328 - 2R T

A1 (1LAS) <0.05 0.5 mg/L P
IR R AL 460 1000 /L pas
SR 2. 05 5 mg/L =
A 5.1 15 mg/L P
Rl 0. 09 1 mg/L B
SR 0.08 1 mg/L i
AU <0.004 [ 0.05 mg/L 5
S <0. 0001 0.1 mg/L 7=
; = SV <0.001 0.1 mg/L i
A j@ﬂiﬁ 2014-11-3 ol <0. 05 0.5 mg/L 7=
S B /] 9 10 mg/L 5
SEE <0. 05 1 mg/L P
KL 0.45 0.5 mg/L B2
2 TR A 40 50 mg/L I3
t)g 20 30 % pas
SR <0.0001 | 0.001 mg/L L
SR <0.0001 | 0.01 mg/L B2
SR <0. 004 0.1 mg/L =
PH{H 7.62 6-9 e pas
Ak T 2.2 10 mg/L I3
PH{H 8.01 6-9 ToEAN pas
N TFEE 4 10 mg/L =
KL 0.43 0.5 mg/L B2
2 TR A 36 50 mg/L I3
JaaNEs 20 30 % pas
SR <0.0001 | 0.001 mg/L i
AR <0.0001 | 0.01 mg/L 2




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
SR <0. 004 0.1 mg/L B
S <0.004 | 0.05 mg/L B
T H A L <0. 0001 0.1 mg/L B
TR (YK 12014-11-7 ST <0. 001 0.1 mg/L B
M S&il <0. 05 0.5 mg/L ik
=Y 10 10 mg/L pats
SEE <0. 05 1 mg/L ik
BT 72 v o
#(LAS) <0. 05 0.5 mg/L =
FE R R AL 490 1000 /L Py
A 3. 12 5 mg/L I
JSEAN 6.9 15 mg/L =
YERIIES 0. 08 1 mg/L B
SR 0. 09 1 mg/L I
PH{{ 7.52 6-9 ToEAN =
AN TFA 2.3 10 mg/L pas
SV 0. 43 0.5 mg/L 7
2 R A 36 50 mg/L B2
Ny 25 30 % &
FOR <0.0001 | 0.001 mg/L B2
SR <0.0001 | 0.01 mg/L P
SR <0. 004 0.1 mg/L B2
g SR} U <0.004 | 0.05 mg/L =
Y5 K b it <0.0001 | 0.1 mg/L 3
B [BEEARMK[2014-11-18 ST <0. 001 0.1 mg/L B2
FHRA peXii| 0. 05 0.5 mg/L 3
H] S B /] 9 10 mg/L e
SEE <0. 05 1 mg/L P
1B 2R s
A1 (1AS) 0. 05 0.5 mg/L 7
IR R AL 700 1000 /L B
A 30. 1 5 mg/L & 5
JSEA 39. 4 15 mg/L &5 1.6
YeRiiES 0. 09 1 mg/L 7=
A 0. 09 1 mg/L e
PH{{ 7.38 6-9 JoE 2 =
A T A 2.6 10 mg/L 5
Joy iz 0. 45 0.5 mg/L P
A T 48 50 mg/L B2
ani 20 30 % pas
R <0.0001 | 0.001 mg/L 2
ok <0.0001 | 0.01 mg/L L
S <0. 004 0.1 mg/L 2
VAN Ik <0.004 | 0.05 mg/L =
A B eyl <0. 0001 0.1 mg/L B2
BB | BgKAR|2014-11-5 LA <0. 001 0.1 mg/L I3
Y S <0. 05 0.5 mg/L &
BIEY 10 10 mg/L -
SV <0. 05 1 mg/L &
B R 1 s .
1 (LAS) 0. 05 0.5 mg/L 2
IR R AL 490 1000 /L pas
A 3.2 5 mg/L =




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
ISEA 8.3 15 mg/L i
F s 0. 08 1 mg/L &
SR 0. 09 1 mg /L 2
PH{E 7.6 6-9 9 Iz
A T 2 10 mg /L B
Juy iz 0.4 0.5 mg/L -
e AR 44 50 mg/L St
anic 20 30 £ yis
SR <0.0001 | 0.001 mg/L ik
s <0.0001 | 0.01 mg/L 2
SR <0. 004 0.1 mg/L ik
S <0.004 | 0.05 mg/L B
N i <0. 0001 0.1 mg/L St
R i{éﬁ 2014-11-14 T 0.001 | 0.1 mg/L e
VR <0. 05 0.5 mg/L 7
=Y 8 10 mg/L B2
SEE <0. 05 1 mg/L 7
328 - 2R T
A1 (LAS) <0.05 0.5 mg/L =
FE R R AL 490 1000 /L I3
SR 1.06 5 mg/L B
B 10. 7 15 mg/L i
ZeRliE 0. 08 1 mg/L I3
SR 0. 09 1 mg/L 3
PH{{ 8.01 6-9 ToEAN =
N T 2 10 mg/L &
Mg 0.4 0.5 mg/L S
27 T A 34 50 mg/L =
B 20 30 % pass
SR <0.0001 | 0.001 mg/L =
SV <0.0001 | 0.01 mg/L S
S <0. 004 0.1 mg/L =
¥ 4 AL ﬁéfg;ﬁ% <<00.0000041 Od 015 mg/L %
v K 5 : ' mg/1 i
F i BT B 2014-11-20) AT <0. 001 0.1 mg/L =
A ol <0. 05 0.5 mg/L 7=
S B /] 9 10 mg/L e
SEE <0. 05 1 mg/L P
1B 2R s
A (LAS) 0. 05 0.5 mg/L 7
IR A AL 330 1000 /L &
A 3. 68 5 mg/L I3
JSY 5.7 15 mg/L &
VRIS 0. 09 1 mg/L I3
ILER/RIE 0. 09 1 mg/L &
PH{{ 7. 44 6-9 Jo 2 pas
A TFA R 2.2 10 mg/L B2
JSy iz 0.43 0.5 mg/L L
A T 24 50 mg/L B2
JaNEs 20 30 % pas
R <0.0001 | 0.001 mg/L B2
SR <0.0001 ] 0.01 mg/L ik
B <0. 004 0.1 mg/L 2




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
AN e <0.004 | 0.05 mg/L B
Ja B Ui LR <0. 0001 0.1 mg/L B
& B | iE kAR EE|12014-11-3 ST <0.001 0.1 mg/L B
] ik <0. 05 0.5 mg/L =
BT 10 10 mg/L ik
SVEE <0. 05 1 mg/L i
B3 2 v .
A (1AS) 0. 05 0.5 mg/L s
IR R AL 460 1000 /L B2
A 2.41 5 mg/L i
ISEA 9. 66 15 mg/L i
F s 0. 09 1 mg/L &
SR 0.08 1 mg/L 2
PH/{H 7.71 6-9 TN =
A T A 2.2 10 mg/L B
Juy iz 0. 45 0.5 mg/L B
AR E TN 40 50 mg/L B
g 25 30 i pass
SR <0.0001 | 0.001 mg/L 7
PaiiEN 0. 08 1 mg/L =
SIREA 0. 09 1 mg/L =
=Y 10 10 mg/L IE
THE MEE <0. 05 1 mg/L 2=
WIS | BTG /KAR [2014-11-6 | [ B - i ok B
I 21 (LAS) <0. 05 0.5 mg/L =
FE R R AL 490 1000 /L I3
A 2. 03 5 mg/L pass
M 9.25 15 mg/L i
SV <0.0001 | 0.01 mg/L S
S <0. 004 0.1 mg/L 7=
AU <0.004 [ 0.05 mg/L B
S <0. 0001 0.1 mg/L 7=
SVEY <0.001 0.1 mg/L S
A <0. 05 0.5 mg/L P
PH{H 7.82 6-9 e pass
Ak T 4.4 10 mg/L B
Mg 0.43 0.5 mg/L S
27 T A 38 50 mg/L =
t)g 20 30 % pa
SR <0.0001 | 0.001 mg/L L
Rl 0. 08 1 mg/L 5
SR 0.08 1 mg/L I3
=T 9 10 mg/L &
I 7Y EL v MEE <0. 05 1 mg/L 2=
ImPUEL (A7 7KAE|2014-11-6 | B3 7R Mg
i) A (LAS) 0. 05 0.5 mg/L 7
IR A AL 490 1000 /L pas
A 3.98 5 mg/L =
JSEA 10. 2 15 mg/L P
AL <0.0001 | 0.01 mg/L ik
S <0. 004 0.1 mg/L B2
AN e <0.004 | 0.05 mg/L B
LR <0. 0001 0.1 mg/L 2




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
SVEY <0. 001 0.1 mg/L i
ik <0. 05 0.5 mg/L =
PH{{ 7.41 6-9 JoEAN pas

Ak T 4.2 10 mg/L =
JSRiz: 0.4 0.5 mg/L ik
WEE T R 44 50 mg/L =
BE 20 30 % &
EIR <0.0001 | 0.001 mg/L 2
SR <0.0001 | 0.01 mg/L ik
ae SV <0. 004 0.1 mg/L =
TSR AUES <0.004 [ 0.05 mg /L 2
HKAT B = o
SEIFUX | L gy 2014-11-23 5%.:. <0. 001 0.1 mg/L 2
SV <0. 05 0.5 mg/L P
IKALER) —
NE =T 10 10 mg/L B
SVEE <0. 05 1 mg/L S
1 2 v .
A (LAS) 0. 05 0.5 mg/L =
N R 490 1000 /L =
TR 0. 662 5 mg/L =
ISEA 12.7 15 mg/L P
PaiiEN 0.1 1 mg/L =
SIREA 0. 09 1 mg/L =
PH/{H 7.57 6-9 o =
A T A 4 10 mg/L I3
i 0.4 0.5 mg/L IE
A i e 40 50 mg/L =
o 20 30 1% =
SR <0.0001 | 0.001 mg/L S
KL <0.0001 | 0.01 mg/L s
SR <0. 004 0.1 mg/L P
S AN 14 <0.004 | 0.05 mg/L £
Eigz S <0. 0001 0.1 mg/L =
P T H’ﬁﬁjﬁl/\ 2014-11-19 B <0.001 | 0.1 mg/L 2
o A A 0.05 | 0.5 /L 2
Y 10 10 mg/L 7=
SEE <0. 05 1 mg/L S
[ 2R v o
5 (1LAS) <0.05 0.5 mg/L =
N R 460 1000 /L =
A 2. 68 5 mg/L B2
A 8.92 15 mg/L L
Rl 0. 09 1 mg/L 5
SR 0.08 1 mg/L I3
PH{H 7.72 6-9 e pas
Ak T 2.2 10 mg/L I3
L 0.4 0.5 mg/L B2
2 TR A 34 50 mg/L I3
t)g 20 30 % pa
SR <0.0001 | 0.001 mg/L ik
S <0.0001 | 0.01 mg/L B2
S <0. 004 0.1 mg/L B
L HEYR S <0.004 [ 0.05 mg/L 2




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
JBeAn A PR AL it <0. 0001 0.1 mg /L B
Y | A A 2014-11-19 ST <0. 001 0.1 mg/L 2
57K SV <0. 05 0.5 mg/L 7=
AbE ) =IEY 8 10 mg/L Py
SEE <0. 05 1 mg/L ik
BT 2 v o
#(LAS) <0. 05 0.5 mg/L =
FE R R AL 460 1000 /L Py
5 3.4 5 mg/L S
LV 10. 7 15 mg/L =
YERIIES 0. 09 1 mg/L B
LAY 0. 08 1 mg/L &
YERIIES 0. 09 1 mg/L B
SR 0.08 1 mg/L I
BIEY) 10 10 mg/L =
SVEE <0. 05 1 mg/L S
1 2 v
A (LAS) 0. 05 0.5 mg/L =
IR R AL 700 1000 /L B
A 4.23 5 mg/L IE
ISEA 11.6 15 mg/L P
et s <0.0001 | 0.01 mg/L I
VARCINIT] iggﬁ 2014-11-23 S <0. 004 0.1 mg/L B
NER <0.004 | 0.05 mg/L B2
oy il <0. 0001 0.1 mg/L 7
ST <0. 001 0.1 mg/L B2
okl <0. 05 0.5 mg/L S
PHAH 7.82 6-9 Jo e =
A T A 4.2 10 mg/L 5
Joy iz 0. 43 0.5 mg/L P
A i U 48 50 mg/L B
JaNES 25 30 1% =
SR <0.0001 | 0.001 mg/L S
PHAH 7.53 6-9 Jo e =
A T A 8.4 20 mg/L 5
Joy iz 0. 655 1 mg/L P
A i U 34.9 60 mg/L 5
JaNES 10 30 1% =
R <0.00004| 0.001 mg/L B2
S <0.0005 | 0.01 mg/L L
ProE T HE B <0. 004 0.1 mg/L B
IK AT VAN Ik <0.004 | 0.05 mg/L i
FiX | (K75 (2014-11-17 eyl <0. 007 0.1 mg/L B
K AbER ALY <0. 0025 0.1 mg/L =
] poSe /) 10 20 mg/L pas
B3 2R s .
A1 (LAS) 0. 101 1 mg/L 7=
N R 3500 10000 /L =
A 1. 59 15 mg/L 12
A 14 20 mg/L ik
JeRliiE 0. 04 3 mg/L &
SR 0.13 3 mg /L 2
PHAE 7.14 6-9 JoE =




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR

A T 7.8 20 mg/L I3

SR 4. 44 1 mg/L 5 3.4
e AR 31.8 60 mg/L St
n)g 20 30 £ pa
SR <0.00004| 0.001 mg/L ik
s <0.0005 | 0.01 mg/L 2
PR ik SR <0. 004 0.1 mg/L B
TK BN ] NS <0.004 | 0.05 mg/L 2
e X | CEE|2014-11-27 ey il <0. 007 0.1 mg/L I
757K AL 2] SV <0.0025 | 0.1 mg/L 2
] =Y 10 20 mg/L S
12 2 v o
#(LAS) 0.097 1 mg/L =
FE R R AL 22 10000 /L I3
A 14.6 15 mg/L B
MR 19. 4 20 mg/L I
YERIlES 0.1 3 mg/L IE
SR <0.01 3 mg/L 3
PH{{ 7.43 6-9 ToEAN =
T 11.3 20 mg/L pas
SV 0.38 1 mg/L 7
2 R A 44. 1 60 mg/L pis
BE 20 30 % &
SR <0. 00004| 0.001 mg/L -
SRR <0.0005 ] 0.01 mg/L P
RS <0. 004 0.1 mg/L -
PRE T AU <0.004 | 0.05 mg/L 5
JEmiX [ V55K 4R 12014-11-27 S <0. 007 0.1 mg/L s
L SVEY <0. 0025 0.1 mg/L S
Y 8 20 mg/L s

1B 2R s

A1 (1AS) 0. 084 1 mg/L 7
IR R AL <20 10000 /L B

A 39. 2 15 mg/L & 1.6

JSEA 55. 7 20 mg/L &5 1.8
YeRiiES <0.01 3 mg/L =
A <0.01 3 mg/L 5
PH{{ 8. 08 6-9 TN s
A TFA R 8.3 10 mg/L B2
JSy iz 0. 046 1 mg/L L
27 T A 41.8 50 mg/L B2
®g 10 30 % =
SR 0.000037[ 0.001 mg/L 2
SR <0.0005 | 0.01 mg/L L
e BB <0. 004 0.1 mg/L o
ﬁﬁiﬁ VAN K <0.004 | 0.05 mg/L 2=
T L ﬁ%@% 2014-11-24 i <0. 007 0.1 mg/L 2
E/Aﬁ ALY <0. 0025 0.1 mg/L =
=Y 10 10 mg/L pas
B R 1 s .
A1 (LAS) 0. 169 0.5 mg/L 2
IR R AL 630 1000 /L &
A 0. 546 8 mg/L B2




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
A 2.13 15 mg/L ik
F s 0. 06 1 mg/L &
SR 0. 65 1 mg/L 2
PH{} 7.3 6-9 e Py
A T 9.2 10 mg/L I3
L 0.438 0.5 mg/L o
WA TR A 45. 8 50 mg/L i
anic 10 30 £ pas
SR 0.000045] 0.001 mg/L ik
s <0.0005 | 0.01 mg/L 2
SR <0. 004 0.1 mg/L ik
Wi T NS <0.004 | 0.05 mg/L B2
WA | JRIK 51 |2014-11-24 Lt <0. 007 0.1 mg/L B
PR W] SV <0.0025 | 0.1 mg/L B2
BIFY 10 10 mg/L =
328 - 2R T
A1 (LAS) 0. 152 0.5 mg/L =
FE R R AL 42 1000 /L pis
SR 0. 368 8 mg/L B2
B 10. 6 15 mg/L i
Rl 0. 06 1 mg /L I3
SR <0.01 1 mg/L 3
PH{{ 7.58 6-9 ToEAN =
N T 6 10 mg/L &
S 0.178 0.5 mg/L 7
2 T A 22 50 mg/L B2
B 0 30 % pas
SR <0.00004| 0.001 mg/L =
SV <0.0005] 0.01 mg/L S
e SRS <0. 004 0.1 mg/L P
- ;‘i’fﬁig Nﬁ% <0.004 | 0.05 mg/L =
TE AL NN 2014-11-5 LA <0. 007 0.1 mg/L s
% B <0.0025 | 0.1 mg/L 1
I 8 10 mg/L s
1B 2R s
A1 (1AS) 0.112 0.5 mg/L =
IR R AL <20 1000 /L B
A 0.279 8 mg/L B
JSEA 13.2 15 mg/L 5
VeI 0. 44 1 mg/L I3
ILER/RIE 0.13 1 mg/L &
I3 2R s .
A1 (LAS) 0.131 0.5 mg/L 2
IR R AL <20 1000 /L =
A 2.01 8 mg/L B2
A 2.3 15 mg/L L
Rl 0.04 1 mg/L B
SR 0. 04 1 mg/L 2=
ok ELi EE <<00. 0000045 00. 011 mg/L %
\ 4 1777 A : : mg/l | e
BRIk H 2014-11-13 N <0.004 | 0.05 mg/L B2
RAEFE = -
o () ,‘mﬁﬁﬂ <0. 007 0.1 mg/L B
SV <0.0025 | 0.1 mg/L B2




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
B 8 10 mg/L ik
PH{EL 7.39 6-9 JoE =
A T 9.7 10 mg/L I3
L 0. 244 0.5 mg/L i
e AR 44 50 mg/L St
anic 0 30 i pass
SR <0.00004| 0.001 mg/L ik
BT 72 v o
#(LAS) 0.122 0.5 mg/L =
FE R R AL <20 1000 /L Py
A 0.95 8 mg/L I
LV 1.55 15 mg/L =
YERIIES 0. 08 1 mg/L B
SR <0.01 1 mg/L I
ok HLi Eg <<00. 0000045 oo. 011 mg/L ;:,?
\ 177 Es ' : g/l | ov
Rk B 2014-11-13 SN <0.004 | 0.05 mg/L £
7J(5LHE':F' o =)
L () ,‘mﬁﬂﬂ <0. 007 0.1 mg/L B
SVEY <0. 0025 0.1 mg/L 7
I 8 10 mg/L B2
PH{{ 7.06 6-9 ToEAN =
T 9.3 10 mg/L pas
SV 0. 404 0.5 mg/L 7
2 R A 49. 2 50 mg/L pis
Ny 0 30 % b
SR <0. 00004| 0.001 mg/L B2
PH{H 7.82 6-9 JoE pass
Ak T 9.2 10 mg/L B
Mg 0. 269 0.5 mg/L S
2 T A 46. 8 50 mg/L =
Ny 5 30 % pass
SR 0.000152] 0.001 mg/L =
SV <0.0005 ] 0.01 mg/L S
S <0. 004 0.1 mg/L =
B A I <0.004 | 0.05 mg/L =
FSEEL | RIy5 K40 |2014-11-3 it <0. 007 0.1 mg/L i
L SVEY <0. 0025 0.1 mg/L S
Y 8 10 mg/L 7=
1B 2R s o
A (LAS) 0. 156 0.5 mg/L 7
IR A AL <20 1000 /L pas
A 1. 06 8 mg/L I3
JSEA 13.5 15 mg/L 5
VRIS 0.14 1 mg/L I3
ILER/RIE 0. 05 1 mg/L &
PH{{ 7.87 6-9 Jo 2 pas
A TFA R 6.4 10 mg/L B
JSy iz 0.234 0.5 mg/L L
A T 27. 2 50 mg/L B2
JaNEs 5 30 % pas
R <0.00004| 0.001 mg/L B2
38 - v .
. A (1AS) 0.122 0.5 mg/L s




XE ?%k?ﬁ BEy H #7 IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
%ﬂ‘iﬂzf IR R AL 1300 1000 /L 5 0.3
RKE BT 2014-11-7 A 0. 089 8 mg/L £
o A A 7.53 15 /L 2
YRS 0. 26 1 mg/L =
BRI 0. 52 1 mg /L 2
s <0.0005 | 0.01 mg/L 2
SR <0. 004 0.1 mg/L ik
S <0.004 | 0.05 mg/L B
Mt <0. 007 0.1 mg/L ik
SV <0.0025 | 0.1 mg/L B2
=Y 8 10 mg/L 2
12 2 v
H(LAS) 0.125 0.5 mg/L =
FE R R AL <20 1000 /L I3
SR 0.902 8 mg/L B
B 2. 59 15 mg/L i
YERIlES <0.01 1 mg/L e
SR <0.01 1 mg/L 3
SR <0.0005 ] 0.01 mg/L P
& 2 H Ik SR <0. 004 0.1 mg/L 3
ENE [ H T |2014-11-8 SN <0.004 | 0.05 mg/L B
PR W] LR <0. 007 0.1 mg/L B2
SVEY <0. 0025 0.1 mg/L 7
=Y 8 10 mg/L B2
PH{{ 7.64 6-9 ToEAN =
N T 6.7 10 mg/L pas
Mg 0.47 0.5 mg/L S
27 T A 27. 2 50 mg/L =
B 5 30 % pass
SR <0.00004| 0.001 mg/L =
1B 2R s
A1 (1AS) 0.138 0.5 mg/L =
IR R AL 170 1000 /L B
A 0.22 8 mg/L =
MEA 7.7 15 mg/L =
YeRiiES <0.01 1 mg/L =
A 0.07 1 mg/L e
R 'é’fa <0.0005 [ 0.01 mg/L 7=
SR R BB <0. 004 0.1 mg/L 1
|- A I 2014-11-12 N <0.004 | 0.05 mg/L I3
T é}ﬂ\ {aﬁqa <0. 007 0.1 mg/L &
ST <0. 0025 0.1 mg/L L
=Y 8 10 mg/L &
PH{{ 7.7 6-9 Tei N i
A TFA R 9.2 10 mg/L &
JSy iz 0. 46 0.5 mg/L L
A T O 48 50 mg/L B2
aNi 10 30 % =
R <0.00004| 0.001 mg/L B2
PH{ 8.53 6-9 JoiE pas
N TFAE 9.6 10 mg/L )
JSyiz: 0.073 0.5 mg/L i
27 T A 46. 7 50 mg/L B2




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
N 25 30 % pas
EIR <0. 00004| 0.001 mg/L 2
SR <0.0005 ] 0.01 mg/L ik
2 =S SV <0.004 0.1 mg/L -
‘ ?{Eﬁa%i AN <0.004 | 0.05 | mg/L 2
= BH EL %%&E N 2014-11-6 i <0. 007 0.1 mg/L B2
= S <0. 0025 0.1 mg/L ik
=IEY) 10 10 mg/L s
B3 - 1 .
A (1AS) 0. 141 0.5 mg/L =
IR R AL <20 1000 /L B2
A 0. 333 8 mg/L B2
ISEA 4,77 15 mg/L i
aiiEN 0.04 1 mg/L =
SIREA 0. 07 1 mg/L =
PH/{H 7.95 6-9 =N =
A T A 9.3 10 mg/L B
i 0. 448 0.5 mg/L IE
A i 49. 4 50 mg/L B
g 20 30 i pass
SR <0.00004| 0.001 mg/L 7
SV <0.0005 ] 0.01 mg/L P
SR <0. 004 0.1 mg/L P
Eas )/ BE N VAN ke <0.004 | 0.05 mg/L 3
L | AV5 K AL [2014-11-12 i <0. 007 0.1 mg/L B
B SV <0.0025 | 0.1 mg/L B2
S B /] 8 10 mg/L 5
[ 2R v
A1 (1LAS) 0.122 0.5 mg/L P
IR R AL <20 1000 /L =
A 4.52 8 mg/L =
A 7.3 15 mg/L s
JeRiiEN <0.01 1 mg/L 5
SR 0.28 1 mg/L i
1B 2R s
A1 (1AS) 0.134 1 mg/L 7
PN BB 9200 10000 /L =
A 1. 48 15 mg/L =
JSEA 8. 39 20 mg/L 5
VeI 0. 08 3 mg/L I3
ILER/RIE <0.01 3 mg/L B
ok <0.0005 | 0.01 mg/L L
S E L BB <0. 004 0.1 mg/L &
PRI E ;@iiﬁ 2014-11-5 S <0.004 | 0.05 mg/L i
L <0. 007 0.1 mg/L 2
ST <0. 0025 0.1 mg/L L
=Y 8 20 mg/L &
PH{{ 7.79 6-9 Jo 2 =
A TFA R 5.7 20 mg/L B
JSy iz 0. 665 1.5 mg/L ik
27 T A 20. 7 60 mg/L B2
i 0 30 e pas
R <0.00004| 0.001 mg/L 2




RE | gk | SHES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
PH{{ 7.91 6-9 JoEAN pas
A T A 7.9 10 mg/L s
JS8iz: 0. 407 0.5 mg/L ik
i T e 34.8 50 mg/L B2
iy 0 30 % &
EIR <0. 00004| 0.001 mg/L 2
SR <0.0005 ] 0.01 mg/L ik
EER <0. 004 0.1 mg/L 2
HHETE IR S <0. 004 0.05 mg/L =
HAREL | HKABR [2014-11-14 i <0. 007 0.1 mg/L 2
A VY <0. 0025 0.1 mg/L ik
=T 8 10 mg/L =
B3 - 1 v .
A (LAS) 0.128 0.5 mg/L s
N R 790 1000 /L =
A 0. 084 ] mg/L S
MA 10 15 mg/L P
AW <0.01 1 mg/L =
) <0.01 1 mg/L 7
PH/{H 7.72 6-9 o =
A T A 8.2 10 mg/L B
Ui 0. 146 0.5 mg/L IE
A i 38.9 50 mg/L B
g 10 30 i pass
SR <0.00004| 0.001 mg/L 7
SV <0.0005 ] 0.01 mg/L P
SR <0. 004 0.1 mg/L =
o o VAN ke <0.004 | 0.05 mg/L 7=
27 f&iiﬁ 2014-11-12 eyl <0. 007 0.1 mg/L =
A <0.0025 | 0.1 mg/L 7=
=T 8 10 mg/L B
[ 7R v
A1 (1LAS) 0.122 0.5 mg/L =
IR R AL 110 1000 /L =
SR 0. 44 8 mg/L =
A 10 15 mg/L P
JeRiiEN <0.01 1 mg/L 5
SR 0.63 1 mg/L i
PH{H 7.39 6-9 ToEAN pas
Ak T 7.8 20 mg/L I3
oy 0. 645 1 mg/L =
2 TR A 43.2 60 mg/L 2=
t)g 10 30 % pa
SR 0.000103] 0.001 mg/L L
SR <0.0005 | 0.01 mg/L B2
SR <0. 004 0.1 mg/L =
i%gi N <0.004 [ 0.05 mg/L B2
5 A TR 2014-11-8 LR <0. 007 0.1 mg/L i
A SV <0.0025 | 0.1 mg/L B2
BIEY 8 20 mg/L =
BB - s
H(LAS) 0.143 1 mg/L =
BN ML i <20 10000 /L Py




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
A 0. 986 15 mg/L i
JSEAN 9.7 20 mg/L =
YERIIES <0.01 3 mg/L B
SIAE Y 0. 05 3 mg/L &
PH{{ 7.82 6-9 ToEAN pas
A AL 9 10 mg/L s
JSRiz: 0. 346 0.5 mg/L ik
i T A 46. 8 50 mg/L B2
BE 0 30 % &
EIR <0. 00004| 0.001 mg/L B2
SR <0.0005 ] 0.01 mg/L ik
EER <0. 004 0.1 mg/L B2
Egiﬁ AUES <0.004 [ 0.05 mg/L B2
ith B £ g 2014111 L i <0. 007 0.1 mg/L 2
o A A 0.0025 | 0.1 /L 2
=Y 10 10 mg/L S
1 2 v

A (LAS) 0.138 0.5 mg/L B2
IR R AL 700 1000 /L B
A 2.89 ] mg/L IE
ISEA 6.83 15 mg/L P
AW <0.01 1 mg/L =
SIREA <0.01 1 mg/L =
PH/{H 7.93 6-9 o =
A T A 9.5 10 mg/L B
LB 0. 043 0.5 mg/L IE

A i e 80. 7 50 mg/L 5 0.6

o 50 30 £ & 0.7
SR <0.00004| 0.001 mg/L S
AL <0.0005 | 0.01 mg/L P
= LS 0. 098 0.1 mg/L o
g;%fﬁ i I <0.004 | 0.05 | mg/L T
&= H iéﬁﬁaz\ 2014-11-18 i <0. 007 0.1 mg/L B2
A A <0.0025 [ 0.1 mg/L s
BIZY) 10 10 mg/L e

I 7R v

A1 (1LAS) 0. 144 0.5 mg/L P
IR R AL 330 1000 /L pas
A 7.85 8 mg/L 2
A 10. 7 15 mg/L L
Rl 0.19 1 mg/L 5
SR 0.56 1 mg/L I3
PH{H 8. 02 6-9 ToEAN pas
Ak T 8.9 10 mg/L I3
L 0.137 0.5 mg/L B2
2 TR A 41.6 50 mg/L 2=
t)g 20 30 % pa
SR <0.00004] 0.001 mg/L L
S <0.0005 | 0.01 mg/L B2
SR <0. 004 0.1 mg/L =
FRANEIN INIES <0.004 [ 0.05 mg/L B2
w B [P FR|2014-11-18 L <0. 007 0.1 mg/L B
YNE ST <0.0025 | 0.1 mg/L B2




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
poSe /) 10 10 mg/L B
128 2 v o
#(LAS) 0. 148 0.5 mg/L =
FE R R AL 230 1000 /L Py
SR 0.178 8 mg/L I
LV 1. 26 15 mg/L =
YERIIES 0.13 1 mg/L B
LAY 0. 66 1 mg/L &
PH{{ 7.9 6-9 ToEAN pas
A T A 8. 38 10 mg/L s
JS8iz: 0.092 0.5 mg/L ik
i T e 30. 4 50 mg/L B2
Bg 25 30 {5 pas
SR <0. 00004| 0.001 mg/L -
SR <0.0005 ] 0.01 mg/L P
s H Y, BB <0. 004 0.1 mg/L 2
?}Q%;;;é N €0.004 [ 0.05 | mg/L 2
& B 201411719 i 0,007 | 0.1 me /L 7
DBE e [ECh <0.0025 | 0.1 mg/L. I
=Y 10 10 mg/L IE
1 2 s
A (LAS) 0.143 0.5 mg/L =
IR R AL 225 1000 /L B
AR 0. 304 8 mg/L =
ISEA 2. 44 15 mg/L P
fHE <0. 01 1 mg/L B2
A 0. 06 1 mg/L 5
[ 2R v
A1 (1LAS) 0. 151 0.5 mg/L P
IR R AL 220 1000 /L =
SR 0. 849 8 mg/L B2
A 2.3 15 mg/L s
Rl 0.16 1 mg/L 2
SR 0.7 1 mg/L =
W £ E: 2 <<Od 0000045 Od 011 mg/L x:?
B K Ak i, . . mg/L e
JIF S EL WA 2014-11-14 SN <0.004 | 0.05 mg/L =
A S fif <0. 007 0.1 mg/L 7=
SV <0.0025 | 0.1 mg/L B2
BIEY 8 10 mg/L -
PH{E. 7.54 6-9 JoE =
Ak T 8.6 10 mg/L I3
AL 0.35 0.5 mg/L B2
2 TR A 48 50 mg/L I3
t)g 0 30 % pa
SR <0.00004] 0.001 mg/L L
PH{H 8. 14 6-9 To =
AT E 5.5 10 mg/L L
L 0. 222 0.5 mg/L B2
2 TR A 27. 1 50 mg/L 2
Ny 10 30 % pas
SR <0.00004| 0.001 mg/L i
S <0.0005 | 0.01 mg/L 2




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
g SR <0. 004 0.1 mg/L B
| E?ﬁ; iﬁ S 0004 | 0.05 | me/l | &
L A A 2014-11-12 L 0. 007 0.1 mg/L B
A SV <0.0025 | 0.1 mg/L 2
=Y 8 10 mg/L 2
BT 2 v o
#(LAS) 0. 141 0.5 mg/L =
FE R R AL <20 1000 /L Py
SR 0. 087 8 mg/L I
JSEAN 6.9 15 mg/L =
YERIIES 0. 05 1 mg/L B
LAY 0.23 1 mg/L &
PH{{ 7.78 6-9 ToEAN pas
AN T 7.7 10 mg/L pas
SV 1.48 0.5 mg/L 5 2
2 i A 37.8 50 mg/L pas
Ny 10 30 % b
SR <0. 00004| 0.001 mg/L B
SR <0.0005 ] 0.01 mg/L P
NS <0. 004 0.1 mg/L B
S SN <0.004 | 0.05 mg/L £
e E tiﬁé?K 2014-11-12 LR <0. 007 0.1 mg/L B
SVEY <0. 0025 0.1 mg/L 7
=Y 8 10 mg/L B2
1 2 v
A (LAS) 0.129 0.5 mg/L =
PN BB <20 1000 /L =
A 0.25 8 mg/L 7=
MEA 10 15 mg/L =
YeRiiES <0.01 1 mg/L =
S <0.01 1 mg/L B
PH{{ 7.61 6-9 JoiE 2 =
A T A 6.5 10 mg/L 5
Joy iz 0. 309 0.5 mg/L P
A i U 23. 1 50 mg/L 5
JaNES 0 30 1% =
SR <0.00004| 0.001 mg/L S
AL <0.0005 | 0.01 mg/L P
S <0. 004 0.1 mg/L B2
s A T VAN Ik <0.004 | 0.05 mg/L I3
E{@gﬁﬁ F1VA4EYS [2014-11-4 ey il <0. 007 0.1 mg/L P
IKRALEE) ALY <0. 0025 0.1 mg/L =
BEIEY) 12 10 mg/L 75 0.2
I3 R s .
A1 (LAS) 0.128 0.5 mg/L 7=
IR R AL <20 1000 /L pas
A 2. 52 8 mg/L B2
A 9. 83 15 mg/L L
Rl 0.12 1 mg/L B
SR 0.1 1 mg/L 2
BB - s
A (LAS) 0.153 0.5 mg/L 2
BN ML i <20 1000 /L Py




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
AR 0.155 8 mg/L I
SV 10. 4 15 mg/L =
YERIIES 0.13 1 mg/L B
SIAE Y 0. 09 1 mg/L &
S S.EZ <<00. 0000045 O(j 011 mg/L ;Zé
‘ i [ 257K % ‘zm . . mg/L 7
BN T N 2014-11-4 AN Nie <0.004 [ 0.05 mg /L B
HT) ey il <0. 007 0.1 mg/L -
SVEY <0. 0025 0.1 mg/L ik
=) 8 10 mg/L =
PH{{ 7.92 6-9 ToEAN pas
A AL 8.7 10 mg/L s
JS8iz: 0.113 0.5 mg/L ik
2 i A 37.7 50 mg/L pis
BE 5 30 % =
SR <0. 00004| 0.001 mg/L B
1 2 v
A (LAS) 0. 144 0.5 mg/L =
IR R AL <20 1000 /L B
A 0. 066 8 mg/L 3
ISEA 13.9 15 mg/L P
AW <0.01 1 mg/L =
SIREA 0.2 1 mg/L I3
S R Eg <<0(j 0000045 00. 011 mg/L %
. 3—5_7](% ‘/L‘n . . mg/L =
BT P 2014-11-4 AN <0.004 | 0.05 mg/L I
CH) M <0.007 0.1 mg/L S
S <0.0025 | 0.1 mg/L 7=
=T 8 10 mg/L e
PH{}{ 7.76 6-9 JoE 2 =
A T A 9 10 mg/L B
Juy iz 0. 378 0.5 mg/L s
A i U 39 50 mg/L 5
JaNES 5 30 1% =
SR <0.00004| 0.001 mg/L S
PH{{ 6. 81 6-9 JoE 2 =
A T A 3.6 10 mg/L 5
Joy iz 0. 025 0.5 mg/L P
A T 15 50 mg/L B2
ani 0 30 % pas
SR 0.00028 | 0.001 mg/L B
ok <0. 001 0.01 mg/L L
S <0. 004 0.1 mg/L B2
SEMTTEL VAN Ik <0.004 | 0.05 mg/L I3
FEMT [ FHKSA|2014-11-4 i <0. 007 0.1 mg/L B
PR 23 w] ALY 0. 01 0.1 mg/L =
=T 5 10 mg/L &
I3 R s .
A1 (LAS) 0. 084 0.5 mg/L 7=
N AR 205 1000 /L =
A 0.311 8 mg/L 3
ISEA 1.14 15 mg/L i
PaRliEN 1 mg/L =




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
SR 0.56 1 mg/L 2
PH{EL 6.93 6-9 JoE =
A T 2.8 10 mg/L I3
puy iz 0.051 0.5 mg/L -
W T 12 50 mg/L St
anic 0 30 i pass
SR 0.00039 | 0.001 mg/L ik
s <0. 001 0.01 mg/L 2
SR <0. 004 0.1 mg/L ik
SE M TR T <0.004 | 0.05 mg/L B2
EMT [ K S A |2014-11-4 L 0. 007 0.1 mg /L B
PR 2 W] SV 0. 01 0.1 mg/L B
=Y 8 10 mg/L 2
328 - 2R T
A1 (LAS) 0.079 0.5 mg/L =
FE R R AL 25 1000 /L pis
SR 0. 376 8 mg/L B
B 1. 14 15 mg/L iy
ZeRliE 0.41 1 mg/L I3
PILER Rl 0.8 1 mg/L S
PH{E 7.68 6-9 ToEAN =
T 9.3 20 mg/L pas
SV 0. 066 1 mg/L 7
2 R A 44. 2 60 mg/L pis
Ny 25 30 % b
SR <0. 00004| 0.001 mg/L B2
SV <0.0005 ] 0.01 mg/L S
S <0. 004 0.1 mg/L =
2 H Gk SN <0.004 | 0.05 mg/L =
ZEW | KSEHIR|2014-11-6 L <0. 007 0.1 mg/L =
23] ST <0. 0025 0.1 mg/L =
Y 8 20 mg/L 7=
1B 2R s
A1 (1AS) 0.137 1 mg/L 7
PN R 790 10000 /L =
A 0. 368 15 mg/L B
MEA 15. 4 20 mg/L =
YeRiiES <0.01 3 mg/L =
ILER/RIE <0.01 3 mg/L B
PH{{ 7.91 6-9 Jo 2 pas
A TFA R 8.7 10 mg/L B
JSy iz 0. 106 0.5 mg/L L
W T A 33.6 50 mg/L B2
aNi 10 30 % =
R <0.00004| 0.001 mg/L 2
S <0.0005 | 0.01 mg/L L
B <0. 004 0.1 mg/L 2
2[R T AR NI <0.004 | 0.05 mg/L =
ZET (YR KA 2014-11-6 eyl <0. 007 0.1 mg/L B
PR 2 7] ALY <0. 0025 0.1 mg/L =
=Y 8 10 mg/L &
BIES FRIERYE | 099 | 0.5 mg/L 7

7l (LAS)




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR

IR R AL <20 1000 /L pas

A 0.173 8 mg/L s

ISEA 13.6 15 mg/L i

F s 0. 01 1 mg/L B

BRI <0.01 1 mg /L 2

PH{EL 6 6-9 =N =

A T 5.7 10 mg/L 7=

L 0.168 0.5 mg/L i

WA TR A 24. 4 50 mg/L pas

anic 10 30 £ yis

SR <0.00004| 0.001 mg/L ik

T B PIES PRIETEYE | ho5 | 0.5 mg/L =
BAFFSL PRI

ek SRR | 790 1000 | AM/L 2

22 i 7712014-11-27 A 0.719 8 mg/L £

PR H] o =

SEA A BA 3.39 15 mg/L I

A AR 0.1 1 mg/L &

SR 0.38 1 mg/L 3

S <0.0005 | 0.01 mg/L B2

SR <0. 004 0.1 mg/L I

N <0.004 | 0.05 mg/L B

L <0. 007 0.1 mg/L I

SV <0.0025 | 0.1 mg/L B

=Y 10 10 mg/L g3

PH{{ 7.86 6-9 ToEAN =

N T 6 20 mg/L &

oy 0.819 1 mg/L B2

27 T A 23.3 60 mg/L i

B 0 30 % pass

EUOR <0.00004| 0.001 mg/L s

SR <0.0005 | 0.01 mg/L =

NS <0. 004 0.1 mg/L s

MBS VAN <0.004 | 0.05 mg/L 5

R T | PREE T A2 |2014-11-5 LR <0. 007 0.1 mg/L s

A FRA ] AT <0. 0025 0.1 mg/L =

Y 8 20 mg/L 7=

1B 2R s o

S (LAS) 0.148 1 mg/L =

IR A AL <20 10000 /L pas

AL 0.992 15 mg/L i

JSEA 10.8 20 mg/L 5

VRIS 0.53 3 mg/L I3

ILER/RIE 0. 09 3 mg/L &

PH{{ 7.45 6-9 JoE =

A TFA R 7.3 10 mg/L &

L 0.32 0.5 mg/L P

A T O 29 50 mg/L B2

aNi 4 30 % pas

SR <0. 00005| 0.001 mg/L B2

SV <0. 001 0.01 mg/L )

U LR 0. 008 0.1 mg/L =

;ﬁig AN INie 0. 005 0. 05 mg/L 2

HAX |0 s e |2014-11-3 i 0. 0003 0.1 mg/L 2




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
e AR <0. 02 0.1 mg/L. i
AR = o

=IEY) 7 10 mg/L s

I3 -2 s .

A (1AS) 0. 05 0.5 mg/L =

IR R AL 140 1000 /L B2

A 3.48 5 mg/L i

ISEA 14.9 15 mg/L i

f s 0. 01 1 mg/L B

SR <0.01 1 mg /L 2

PH{EL 7.28 6-9 JoE =

A T 6.2 10 mg/L I3

L 0.18 0.5 mg/L o

WEE T AR 37 50 mg/L St

g 4 30 i pass

SR <0.00005| 0.001 mg/L 7

SR <0. 001 0.01 mg/L B2

KK T AR 0.01 0.1 mg/L 2=

el NI 0. 008 0. 05 mg/L IE

N AE R X [ y5 /K Ab 12014-11-3 i 0. 0003 0.1 mg/L B

A PR 51 SV <0. 02 0.1 mg/L 3

IR/ poSe /) 6 10 mg/L B2
328 - 2R T

A1 (LAS) <0. 05 0.5 mg/L =

FE R R AL 140 1000 /L I3

SR 3.55 8 mg/L B2

S 20 15 mg/L %5 0.3

JeRiiEN <0.01 1 mg/L e

SR <0.01 1 mg/L =

PH{H 7.84 6-9 JoE pass

Ak T 7.4 10 mg/L B

Mg 0.26 0.5 mg/L S

27 T A 40 50 mg/L =

Ny 4 30 % pass

SR <0. 00005| 0.001 mg/L =

SV <0.001 0.01 mg/L S

SR 0.01 0.1 mg/L P

kAt 57 ik VAN 0. 005 0. 05 mg/L 5

kb E [k |2014-11-3 L <0.0002 | 0.1 mg/L =

B2 ] SV 0. 02 0.1 mg/L B

BIEY 7 10 mg/L -
1B 2R s

A (LAS) 0. 05 0.5 mg/L 7

IR A AL 170 1000 /L pa

AR 0.318 5 mg/L 2

SR 7.45 15 mg/L B

VeI <0.01 1 mg/L I3

ILER/RIE <0.01 1 mg/L &

PH{{ 7.65 6-9 Jo 2 =

A TFA R 7.2 10 mg/L B

JSy iz 0. 36 0.5 mg/L ik

e R A 31 50 mg/L )

i 4 30 e pas

SR <0. 00005| 0.001 mg/L &




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
SR <0. 001 0.01 mg/L ik
AL o _E'f% 0. 008 0.1 mg/L %
Ve K T /\‘1;[ % 0. 005 0. 05 mg/L I
R EL iy 2014-11-4 T <0.0002 | 0.1 mg/L 2
g = S 0.02 0.1 mg/L ik
=T 6 10 mg/L =
B3 2 v .
A (1AS) 0. 05 0.5 mg/L s
IR R AL 330 1000 /L B2
A 4.3 5 mg/L =
ISEA 13.6 15 mg/L i
F s 0. 01 1 mg/L B
SR <0.01 1 mg /L 2
PH/{H 7. 47 6-9 TN =
A T A 8.8 10 mg/L B
i 0.3 0.5 mg/L S
AR E TN 28 50 mg/L B
g 4 30 i pass
SR <0.00005| 0.001 mg/L 7
SR <0. 001 0.01 mg/L B2
[, S 0.01 0.1 mg/L 2
| iR 0.005 | 0.05 | me/l | &
P/ 85 iﬁimﬁi 2014-11-3 Lt <0.0002 | 0.1 mg/L B
! B <0. 02 0.1 mg/L H
A col g =
=T 5 10 mg/L e
328 - 2R T
A1 (1LAS) <0.05 0.5 mg/L P
IR R AL 1400 1000 /L 5 0.4
SR 3. 44 5 mg/L =
M 8. 68 15 mg/L J
YeRiiEN <0.01 1 mg/L s
SR <0.01 1 mg/L =
1B 2R s
A1 (1AS) 0. 05 0.5 mg/L =
PN R 330 1000 /L =
A 2.81 5 mg/L =
MEA 10. 4 15 mg/L =
YeRiiES <0.01 1 mg/L =
ILER/RIE <0.01 1 mg/L 5
S <0. 001 0.01 mg/L L
g XEL A SR 0.011 0.1 mg/L B
W R | B K |2014-11-4 AR 0. 004 0. 05 mg/L 2=
L i <0.0002 | 0.1 mg/L B2
ST <0. 02 0.1 mg/L L
=T 7 10 mg/L &
PH{{ 7.77 6-9 Jo 2 pas
A TFA R 8.6 10 mg/L B
JSy iz 0. 45 0.5 mg/L L
A T 35 50 mg/L &
JaNEs 4 30 % pas
MR <0. 00005| 0.001 mg/L &
PH{{ 7.23 6-9 JoEAN pas
A T 8.8 10 mg/L =




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
LT 2. 43 0.5 mg/L 5 3.9
R T AR 33 50 mg/L =
faaNis 4 30 {5 pas
SR <0. 00005| 0.001 mg/L &
SR <0. 001 0.01 mg/L ik
SR 0. 007 0.1 mg/L i
e BB YR AUES <0.005 [ 0.05 mg /L 2
B | HKA R [2014-11-3 eyl <0.0002 | 0.1 mg/L 2
A S <0. 02 0.1 mg/L ik
=) 6 10 mg/L =
B3 - 1 .
A (1AS) 0. 05 0.5 mg/L s
N R 340 1000 /L =
A 4. 74 5 mg/L IE
MA 34.3 15 mg/L 5 1.3
fiHE <0. 01 1 mg/L B2
SIREA <0.01 1 mg/L =
PH{ 7.41 6-9 = pas
A T A 9.5 20 mg/L B
S 0.81 1 mg/L =
A i e 37 60 mg/L B
g 4 30 i pass
SR <0.00005| 0.001 mg/L 7
Bﬂiﬁ%ﬁﬁﬁﬁ <0. 05 | mg/LL 2
B Lo i UAS) — _
S K A SNy o BEA 70 10000 /L 2
FH Jii E N 2014-11-1 A 4.99 8 mg/L 2=
A SE 42.3 20 mg/L & 1.1
JeRiiEN <0.01 3 mg/L e
SR <0.01 3 mg/L =
SV <0.001 0.01 mg/L S
S 0.012 0.1 mg/L =
AU 0. 004 0.05 mg/L 5
S <0.0002 | 0.1 mg/L =
SVEY <0. 02 0.1 mg/L S
Y 5 20 mg/L 7=
PH{H 6.95 6-9 JoE pass
Ak T 8.5 10 mg/L B
L 0. 86 0.5 mg/L 75 0.7
2 TR A 35 50 mg/L I3
t)g 4 30 % pas
SR 0.00005 [ 0.001 mg/L L
S <0.0001 | 0.01 mg/L B2
Wi L VB 0. 009 0.1 mg/L &
‘ %fgiﬁ ijﬁ%% 0. 004 0. 05 mg/L B
PRz HL - [2014-11-10 L 0. 0002 0.1 mg/L 2=
AT 5 FEn 0.02 | 0.1 o
(T8 7] oA ] . . mg/L i
BIEY 5 10 mg/L -
1B 2R s o
A (LAS) 0. 05 0.5 mg/L 7
IR R 90 1000 /L Py
A 3.82 5 mg/L St
B 12. 4 15 mg/L 2




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
YERIIES <0.01 1 mg/L B
LAY 0. 01 1 mg/L B
PH{{ 7.51 6-9 JoEAN pas
A T 8.9 20 mg/L s
JSRiz: 0.22 1 mg/L ik
i T A 40 60 mg/L B2
iy 4 30 {5 pas
R <0. 00005| 0.001 mg/L &
SR <0. 001 0.01 mg/L ik
BVER 0. 009 0.1 mg/L =
JiaEs AUES 0. 004 0. 05 mg /L 2
JiaE | KR (2014-11-1 i <0.0002 | 0.1 mg/L B
FUH L SV 0. 02 0.1 mg/L B
=i 8 20 mg/L IE
1 2 v
A (LAS) 0. 05 1 mg/L B2
IR R AL 40 10000 /L B
A 5. 28 ] mg/L IE
MA 33. 4 20 mg/L 5 0.7
fHE <0. 01 3 mg/L B2
SIREA <0.01 3 mg /L =
PH/{H 7. 54 6-9 JoEHN =
A T A 9.2 10 mg/L B
i 0.33 0.5 mg/L IE
A i 41 50 mg/L B
g 4 30 i pass
SR <0.00005| 0.001 mg/L S
ok <0. 001 0.01 mg/L P
SR 0. 009 0.1 mg/L =
] VAN ks 0. 005 0. 05 mg/L =
Mok B YRS K |2014-11-3 i 0. 0004 0.1 mg/L B2
AhE) SUHT 0. 02 0.1 mg/L =
=T 5 10 mg/L s
[ 7R v
A1 (1LAS) <0.05 0.5 mg/L P
IR R AL 90 1000 /L =
A 3. 14 5 mg/L pass
A 43. 1 15 mg/L =5 1.9
Rl <0.01 1 mg/L B
SR <0.01 1 mg/L I3
1B 2R s
A (LAS) 0. 05 1 mg/L A
IR A AL 140 10000 /L pa
A 4. 05 8 mg/L I3
JSEA 19. 4 20 mg/L P
VeI <0.01 3 mg/L I3
ILER/RIE <0.01 3 mg/L B
ok <0. 001 0.01 mg/L L
b 9 S BB 0.01 0.1 mg/L &
BEE | KA 2014-11-3 S 0. 007 0. 05 mg/L I3
B eyl 0. 0003 0.1 mg/L B2
SV <0. 02 0.1 mg/L i
=Y 7 20 mg/L AL




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
PH{{ 7.08 6-9 JoEAN pas
A T A 7.3 20 mg/L s
JS8iz: 0.25 1 mg/L ik
i T e 37 60 mg/L J
iy 4 30 % pas
EIR <0. 00005| 0.001 mg/L &
PH{{ 7.26 6-9 ToEAN pas
A T A 9.5 10 mg/L s
JSRiz: 0.2 0.5 mg/L ik
i T e 38 50 mg/L s
iy 4 30 % pas
EIR <0. 00005| 0.001 mg/L &
SR <0. 001 0.01 mg/L ik
SV 0.01 0.1 mg/L =
IR EL U 0. 006 0. 05 mg /L =
FRIE Vg K AR [2014-11-17 it <0.0002 | 0.1 mg/L -
M SVEY <0. 02 0.1 mg/L 7
I 8 10 mg/L B2
1 2 v
A (LAS) 0. 05 0.5 mg/L =
N B REEL 140 1000 /L =
TR 3.94 5 mg/L =
MA 13.2 15 mg/L P
fHE <0. 01 1 mg/L B2
SIREA <0.01 1 mg/L =
PH/{H 7.65 6-9 o =
A T A 8.6 10 mg/L 5
AL 1.1 0.5 mg/L & 1.2
A i U 35 50 mg/L 5
JaNES 4 30 1% =
SR <0.00005| 0.001 mg/L S
[ 7R v
A1 (1LAS) <0. 05 0.5 mg/L =
Sl E e FEN AL 60 1000 /L B
SHLE [FEHEKA|2014-11-3 A 4. 74 5 mg/L pass
PR 22 ] SE 21.9 15 mg/L & 0.5
JeRiiEN <0.01 1 mg/L e
SR <0.01 1 mg/L =
S <0. 001 0.01 mg/L B2
SR 0.011 0.1 mg/L =
S 0. 008 0. 05 mg/L &
L fif 0. 0004 0.1 mg/L L
ST <0. 02 0.1 mg/L =
BIEY 7 10 mg/L -
PH{E. 7.62 6-9 e =
Ak T 9.4 10 mg/L I3
oy 0.98 0.5 mg/L 5 1
2 TR A 33 50 mg/L I3
t)g 4 30 % pa
SR <0.00005] 0.001 mg/L ik
S <0. 001 0.01 mg/L B2
PP S S 0.01 0.1 mg/L i
Z‘iif KK T NS 0. 005 0. 05 mg/L =




- %% | ‘ﬁgz% W H 3 Hﬁigulﬁa HeBORBE | brvERRAE | HEBCRAT %ﬁ;tﬁ AR
S TF %%[%a‘jf% 2014-11-3 ;ﬁ)ﬁf <0.0002 | 0.1 mg/L 12
X /NS /u:félzl <0. 02 0.1 mg/L I
=Y 8 10 mg /L I3
12 2 v o
#(LAS) <0. 05 0.5 mg/L =
FE R R AL 270 1000 /L Py
SR 5. 72 5 mg/L 5 0.1
HA 7.83 15 mg/L i
YERIIES <0.01 1 mg/L B
LAY 0. 01 1 mg/L B
B3 - 1
A (1AS) 0. 05 0.5 mg/L =
N R 210 1000 /L =
A 2.76 5 mg/L IE
MA 5. 54 15 mg/L P
fiHE <0. 01 1 mg/L B2
P SIREA <0.01 1 mg/L I3
gigg 'é’fﬁ <0. 001 0.01 mg/L B2
R TN e T B e e
X Y K b /\g)[ B 0. 005 0. 05 mg/L §
BT [ /\mﬁfﬁ <0.0002 | 0.1 mg/L B2
A ST 0. 02 0.1 mg/L -
=T 6 10 mg/L e
PH/{H 7.18 6-9 o =
A T A 8.3 10 mg/L B
i 0. 34 0.5 mg/L IE
A i e 33 50 mg/L =
o 4 30 1% =
SR <0.00005| 0.001 mg/L S
IR R AL 900 mg/L
M 17.5 mg/L
A 1.6 15 mg/L =
Mg 0.25 1 mg/L S
27 T A 23.6 80 mg/L =
B 4 80 % pass
SR <0.00002| 0.05 mg/L =
SV <0.001 0.1 mg/L S
AT SR <0. 004 1.5 mg/L =
eSS o INIES <0. 004 0.5 mg/L B2
R w014 i <0.0003 [ 0.5 mg/L Iz
AT/ ] ST <0.01 1 mg/L &
BIEY 6 30 mg/1 -
1B 2R s
A (LAS) 0. 062 10 mg/1 2
it <0. 005 1 mg/1 &
VRl 0. 04 10 mg/1 I3
ILER/RIE 0. 04 15 mg/1 &
PH{{ 7.26 6-9 Jo 2 =
EATFEE 4.6 30 mg/1 B2
2 TR A 39.2 60 mg/L 2
JaaNEs 2 30 % pas
SR <0.00002| 0.001 mg/L i
S <0. 001 0.01 mg/L 2




XE | kg | BuE B H HeBORE | bRvEFRAE | HEBUEAL | REIENR | BAREE
SR <0. 004 0.1 mg/L B
S <0.004 | 0.05 mg/L B
Mt <0. 0003 0.1 mg/L ik
SV <0.01 0.1 mg/L i
g%%mqj Qf%ﬁrﬁ%‘ 8 20 mg/L zEé
R 7K %45 [2014-11-12 w?ﬁ fiffﬁ 0.127 1 mg/L 2
INTF
a ke | 3000 | 1o | L | &
A 2. 09 8 mg/L I
LV 11.6 20 mg/L =
ke <0. 005 1 mg/L B
F s 0. 04 3 mg/L &
SR <0. 04 3 mg/L 2
PH/{H 7.61 6-9 TN =
A T A 5.6 20 mg/L B
S 0.27 1 mg/L =
SIREA <0. 04 mg/L =
B3 -2 v
A1 (LAS) 0.074 0.5 mg/L =
FE R R AL 1000 1000 /L pis
SR 0. 168 8 mg/L B2
B 9.84 15 mg/L i
ity <0. 005 1 mg/L =
HRAE T PERiiES <0. 04 1 mg/L g3
FETH AL <0.001 | 0.01 mg/L =
J& T 1 | XM 9014-11-17 SR <0. 004 0.1 mg/L -
WX | KA AU <0.004 | 0.05 mg/L 5
FRTTAEA AL i <0.0003 | 0.1 mg/L i
] SVEY <0.01 0.1 mg/L S
Y <4 10 mg/L 7=
PH{H 7.2 6-9 JoE =
Ak T 3.7 10 mg/L B
Mg 0.18 0.5 mg/L S
27 T A 34.5 50 mg/L =
B 2 30 & Pty
SR <0.00002| 0.001 mg/L i
PH{E 7.18 6-9 T =
Ak T 3.6 10 mg/L B
S 0.25 0.5 mg/L 2
2 TR A 13. 1 50 mg/L 2=
t)g 2 30 % pas
SR <0.00002] 0.001 mg/L L
S <0.001 | 0.01 mg/L 2
SR <0. 004 0.1 mg/L =
7k f B o INIES <0.004 [ 0.05 mg/L B2
e | ERTTKAR PP SN i <0.0003 | 0.1 mg/L 2
RIS gy | 2014711712 L 0.0l | 0.1 g/ =
C| poSe /] <4 10 mg/L =
1B 2R s .
A (LAS) <0. 05 0.5 mg/L 2
IR R 800 1000 /L I
AR 0.107 5 mg/L I
LV 12.5 15 mg/L AL




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
itk <0. 005 1 mg/L B
F s 0. 04 1 mg/L B
SR <0. 04 1 mg/L 2
F s 0. 04 3 mg/L &
BRI <0. 04 3 mg/L 2
=Y <4 20 mg/L pats
B3 2 v .
# (1AS) <0. 05 1 mg/L =
IR R AL 1000 10000 /L 5
A 1.19 15 mg/L B2
ISEA 13.8 20 mg/L i
W ELA A <0. 005 1 mg/L =
e B | yme o Bk <0.00002] 0.001 | me/L "
MR | YRTE KA [2014-11-11 v 5001 ol — m
I SVEE <0. 004 0.1 mg/L B
NER <0.004 | 0.05 mg/L B2
M <0. 0003 0.1 mg/L 7
ST 0. 01 0.1 mg/L B2
PH{{ 7.13 6-9 ToEAN =
T 2.7 20 mg/L pas
SV 0.37 1 mg/L 7
2 R A 16.3 60 mg/L pis
BE 2 30 % &
PH/{H 7.52 6-9 o =
A T A 3.1 10 mg/L B
i 0.19 0.5 mg/L IE
A i e 15. 4 50 mg/L 5
o 2 30 1% =
SR <0.00002| 0.001 mg/L S
[ 2R v
A1 (LAS) 0. 058 0.5 mg/L P
IR R AL 1000 1000 /L B
.- IR LA P A 2. 84 8 mg/L B
TRE e gy | 2014711712 B 11.7 15 mg/L 1
k) <0. 005 1 mg/L 5
YeRiiES <0. 04 1 mg/L =
SV <0.001 0.01 mg/L S
S <0. 004 0.1 mg/L =
AU <0.004 | 0.05 mg/L &
L fif <0. 0003 0.1 mg/L L
ST <0.01 0.1 mg/L =
BIEY <4 10 mg/L -
ILER/RIE 0. 04 1 mg/L &
PH{{ 7.42 6-9 JoE =
A TFA R 3.5 10 mg/L B
JSy iz 0. 26 0.5 mg/L L
A T O 22 50 mg/L B2
aNi 2 30 % =
R <0.00002| 0.001 mg/L B2
ok <0. 001 0.01 mg/L ik
S <0. 004 0.1 mg/L 2
S YA SN <0.004 | 0.05 mg /L 2
oy g VTIARKEER] L, i <0.0003 | 0.1 mg/L o




RKE | gk | BuES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
S CTERSETTT T R <0.01 0.1 mg/L 2
I8 ) =IEFY) 6 10 mg/L =
I3 -2 s .
51 (LAS) 0. 424 0.5 mg/L =
IR R AL 800 1000 /L B2
A 1.42 8 mg/L i
MA 10 15 mg/L ik
i) <0. 005 1 mg/L &
YERIIES 0. 04 1 mg/L B
LAY 0. 04 1 mg/L B
PH{{ 7.18 6-9 ToEAN pas
A T 4.4 10 mg/L =
JS8iz: 0.4 0.5 mg/L ik
2 i A 13.3 50 mg/L pis
BE 2 30 % =
EOR <0.00002| 0.001 mg/L -
SR <0.001 0.01 mg/L P
SR <0. 004 0.1 mg/L -
NE& <0.004 | 0.05 mg/L B
" [ = o LR <0.0003 | 0.1 mg/L B2
FERCEY |y g (2014711712 [ECh <0.01 0.1 mg/L. I
=Y <4 10 mg/L g3
1 - v
A (LAS) 0. 05 0.5 mg/L B2
N R 1000 1000 /L =
TR 0. 084 8 mg/L =
MEA 10. 2 15 mg/L =
[ike ] <0. 005 1 mg/L =
UeRliiE 0. 04 1 mg/L 5
SR <0. 04 1 mg/L =
PH{H 7.12 6-9 JoE =
Ak T 5.4 10 mg/L B
Mg 0. 36 0.5 mg/L S
27 T A 20. 8 50 mg/L =
B 4 30 % pass
SR <0.00002| 0.001 mg/L =
SV <0.001 0.01 mg/L S
T SR <0. 004 0.1 mg/L P
o Eg/gﬁfg f\gﬁ% 0.004 | 0.05 | mg/L L
4511%& VA |2014-11-6 ,‘mb‘E}a <0.0003 | 0.1 mg/L i
ERGEEES F7 A SV 0. 01 0.1 mg/L B2
A PR o P R e
= 5
A (LAS) 0. 05 0.5 mg/L 7
IR A AL 1000 1000 /L pas
A 0. 388 8 mg/L I3
JSEA 8. 48 15 mg/L 5
it <0. 005 1 mg/L =
Rl 0. 04 1 mg/L B
SR <0. 04 1 mg/L I3
PH{H 7. 04 6-9 ToEAN Py
A T 4.2 10 mg/L 2
S 0. 45 0.5 mg/L =




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
2 T 24.6 50 mg/L i
n)g 2 30 £ pa
VRN <0. 004 1 mg/L B
SIAE Y <0. 004 1 mg/L &
BT <4 10 mg/L ik
e i s | IR B FE Bﬂ%ﬁﬂé@ﬁﬁ 0. 054 0.5 mg/L =
T Il I St b [2014-11-1 7 (LAS)
HiGH A NI R AR 800 1000 A/L &
. S 118 8 me /L. I
LV 12.7 15 mg/L =
ke <0. 005 1 mg/L B
EIR <0.00002| 0.001 mg/L 2
SR <0. 001 0.01 mg/L ik
NS <0. 004 0.1 mg/L I
NrE& <0.004 | 0.05 mg/L B
L <0.0003 | 0.1 mg/L B2
SVEY 0.01 0.1 mg/L P
PHAE 7.07 6-9 =N =
A T A 2.6 10 mg/L B
i 0.4 0.5 mg/L IE
A i e 36.5 50 mg/L B
g 4 30 i pass
SR <0.00002| 0.001 mg/L P
SR <0. 001 0.01 mg/L B2
i ;'é\f% <0. 004 0.1 mg/L ;:?
e | NI <0.004 0.05 mg/L 7=
FEl it e | 5 i e | Al 200003 o1 T =
FoEE [ EFEI|2014-11-6 g‘%n <6 ol 0-1 mg/L 2
HE [VEKEE e ; ' 18 —
ST __&IFY <4 10 mg/L .
[ 2R v 0. 062 0.5 L .
# (LAS) ' ‘ e =
IR R AL 1000 1000 /L B
SR 4.8 8 mg/L =
M 13.6 15 mg/L i
k) <0. 005 1 mg/L 5
YeRiiES <0. 04 1 mg/L =
A 0. 04 1 mg/L 5
PH{{ 7.82 6-9 JoE 2 =
A Ab T 3.72 10 mg/L B
JSy iz 0. 461 1 mg/L L
A T O 30 50 mg/L B2
®g 20 30 % =
R <0.00002| 0.001 mg/L B2
ok <0. 001 0.01 mg/L L
A S <0. 004 0.1 mg/L B2
e OviHs | <0.004 | 0.05 | me/l |
BrEX 2002 U 12014-11-5 i 0. 0005 0.1 mg/L o
EENEL BT <0.01 0.1 / =
AhFR T o U . . mg/L I
=T 8 10 mg/L &
B R 1 s .
A1 (LAS) 0.129 0.5 mg/L s
IR R AL 103 1000 /L &
A 3. 88 8 mg/L AL




RKE | gk | BuES IR H HeBOREE | brMERRME | HECasr | BRERAR | SRS
A 11.7 15 mg/L ik
F s 0. 04 1 mg/L B
SR 0. 05 1 mg/L 2
12 2 v o
#(LAS) 0.103 0.5 mg/L =
FE R R AL 503 1000 /L Py
A 1.96 8 mg/L I
JSEAN 13.3 15 mg/L i
YERIIES 0. 04 1 mg/L B
Y 0.04 1 mg/L s
N AL AL <0. 001 0.01 mg /L 2
TKHEK S EER <0. 004 0.1 mg/L 2
B | B RR A |2014-11-5 S <0.004 [ 0.05 mg /L 2
EbeiiibG LR 0.00039 | 0.1 mg/L B2
TKALBE) S <0.01 0.1 mg/L P
=Y 8 10 mg/L B2
PH{H 7.8 6-9 ToEAN =
N T 3. 89 10 mg/L pas
SV 0.431 0.5 mg/L 7
2 R A 31 50 mg/L B2
BE 20 30 % =
FOR <0.00002| 0.001 mg/L -
PH{H 7.8 6-9 ToEAN =
N T 2. 46 10 mg/L pas
S 0.219 0.5 mg/L 7
2 T A 22 50 mg/L B2
B 8 30 % pas
SR <0.00002| 0.001 mg/L =
SV <0.001 0.01 mg/L S
SR <0. 004 0.1 mg/L =
AR AU <0.004 | 0.05 mg/L B
OB |V5KAEE|2014-11-3 AL i <0.0001 | 0.1 mg/L i
] ST 0. 01 0.1 mg/L P
I 8 10 mg/L s
1B 2R s
A1 (1AS) 0. 083 0.5 mg/L 7
IR R AL 465 1000 /L B
A 1.84 8 mg/L =
JSEA 9.78 15 mg/L 5
VeI 0. 04 1 mg/L I3
ILER/RIE 0. 04 1 mg/L 5
PH{{ 7.45 6-9 Jo 2 =
A TFA R 1.77 10 mg/L B2
JSy iz 0. 252 0.5 mg/L L
A T 44 50 mg/L B2
®g 10 30 % ps
SR <0.00002| 0.001 mg/L 2
ok <0. 001 0.01 mg/L L
SR <0. 004 0.1 mg/L 2
o= N <0. 004 0.05 mg/L ik
B %z‘%?}ajk 2014-11-10 i 0.0001] 0.1 ma/L 2
SVEY <0.01 0.1 mg/L i
=Y 3 10 mg/L AL




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
I3 2 v .
A (1AS) 0.111 0.5 mg/L s
IR R AL 805 1000 /L B2
A 3. 89 8 mg/L S
MA 12. 85 15 mg/L ik
f s 0. 04 1 mg/L B
SR <0. 04 1 mg /L 2
PH{EL 8. 42 6-9 JoE =
AT 1.72 10 mg/L ik
L 0.33 0.5 mg/L o
W T 43 50 mg/L St
n)g 4 30 £ pas
SR <0.00002| 0.001 mg/L ik
SR <0. 001 0.01 mg/L B2
SR <0. 004 0.1 mg/L P
‘ Ly VAN ke <0.004 | 0.05 mg/L B2
RS VAEN K 2014-11-5 AL <0. 0001 0.1 mg/L =
ST 0. 01 0.1 mg/L B2
=T 8 10 mg/L e
328 - 2R T
A1 (LAS) 0.275 0.5 mg/L =
FE R R AL 103 1000 /L I3
SR 1.62 8 mg/L B
M 2. 96 15 mg/L i
YERIlES 0. 04 1 mg/L e
SR <0. 04 1 mg/L 3
PH{H 8.21 6-9 JoE pass
N T 5 10 mg/L =
Mg 0.431 0.5 mg/L S
2 T A 38 50 mg/L =
Ny 20 30 % pass
SR <0.00002| 0.001 mg/L 7=
SV <0.001 0.01 mg/L S
S <0. 004 0.1 mg/L 7=
il B NS <0.004 | 0.05 mg/L 5
il E [ ivgKAab|2014-11-5 L 0.00063 | 0.1 mg/L 7=
L SVEY <0.01 0.1 mg/L S
Y 7 10 mg/L 7=
1B 2R s
A (LAS) 0.12 0.5 mg/L 7
IR A AL 843 1000 /L pas
A 3. 52 8 mg/L =
JSEA 12. 6 15 mg/L 5
VRIS 0. 04 1 mg/L I3
ILER/RIE 0. 04 1 mg/L &
PH{{ 7.82 6-9 Jo 2 pas
A TFA R 3. 04 10 mg/L B
JSy iz 0.14 0.5 mg/L L
A T 40 50 mg/L B2
JaNEs 4 30 % pas
R <0.00002| 0.001 mg/L B2
SR <0. 001 0.01 mg/L ik
e A SR <0. 004 0.1 mg/L =




XE }%%kgji BEy H #7 IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
‘ — ek A Nﬁ"% <0.004 | 0.05 mg/L B
T AT A 2014-11-5 T 0.00032 | 0.1 mg/L 2
= S <0.01 0.1 mg/L ik
=T 8 10 mg/L =
B3 -2 v .
A (1AS) 0. 097 0.5 mg/L =
N REEL 728 1000 /L =
A 1. 66 8 mg/L i
ISEA 3.99 15 mg/L i
F s 0. 04 1 mg/L B
SR <0. 04 1 mg /L 2
12 2 v o
#(LAS) 0. 106 0.5 mg/L =
FE R R AL 390 1000 /L I3
SR 3. 42 8 mg/L B2
B 4. 09 15 mg/L i
YERIlES 0. 04 1 mg/L e
SR 0.04 1 mg/L 3
P A SV <0.001 0.01 mg/L 2
”ﬁ ;ii Rk 0,004 | 0.1 me/L 7
e B @gﬁa N 2014-11-5 SN <0.004 | 0.05 mg/L £
A L <0. 0001 0.1 mg/L I
SVEY <0.01 0.1 mg/L 7
=Y 9 10 mg/L B2
PH{{ 8.01 6-9 ToEAN =
N T 3.45 10 mg/L pas
Mg 0. 057 0.5 mg/L S
27 T A 36 50 mg/L =
Ny 8 30 % pass
SR <0.00002| 0.001 mg/L =
PH{H 8.01 6-9 JoE =
AT 2. 44 10 mg/L s
Mg 0. 047 0.5 mg/L S
27 T A 31 50 mg/L =
Ny 8 30 % pass
SR <0.00002| 0.001 mg/L =
SV <0.001 0.01 mg/L S
S <0. 004 0.1 mg/L =
. - AU <0.004 | 0.05 mg/L &
Rz B Eﬁiiﬁ 2014-11-11 L <0. 0001 0.1 mg/L I3
ST <0.01 0.1 mg/L =
BIEY 8 10 mg/L -
1B 2R s
A (LAS) 0.07 0.5 mg/L 7
IR A AL 390 1000 /L &
A 1.09 8 mg/L I3
JSEA 2. 63 15 mg/L 5
VRIS 0. 04 1 mg/L I3
ILER/RIE 0. 04 1 mg/L 5
PH{ 8.16 6-9 JoiE pas
N TFAE 2.81 10 mg/L B2
JSyiz: 0. 465 0.5 mg/L i
Wi T R 38 50 mg/L AL




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
N 8 30 % pas
EIR <0.00002| 0.001 mg/L 2
SR <0. 001 0.01 mg/L ik
EER <0. 004 0.1 mg/L 2
o . AN Nie <0.004 | 0.05 mg /L 2
Rt B ?ﬁiﬁ 2014-11-6 L 0.00029 | 0.1 mg/L 2
SVET <0.01 0.1 mg/L ik
=T 8 10 mg/L =
B3 - 1 .
A (1AS) 0.116 0.5 mg/L s
IR R AL 768 1000 /L B2
A 0.073 8 mg/L B2
ISEA 4,97 15 mg/L i
fiHE 0. 04 1 mg/L B2
SIREA <0. 04 1 mg /L =
PH{E 8.1 6-9 =N =
A T A 3.21 10 mg/L B
i 0.293 0.5 mg/L IE
A i 39 50 mg/L B
g 20 30 i pass
SR <0.00002| 0.001 mg/L 7
SR <0. 001 0.01 mg/L B2
SR <0. 004 0.1 mg/L P
MR EL I VAN ke <0.004 | 0.05 mg/L 3
mk B |vg/KAbPE2014-11-4 it 0.00026 0.1 mg/L 7
L SV 0. 01 0.1 mg/L B2
S B /] 9 10 mg/L 5
[ 2R v
A1 (1LAS) 0.101 0.5 mg/L P
IR R AL 398 1000 /L =
A 2.27 8 mg/L =
A 10. 4 15 mg/L s
JeRiiEN 0. 04 1 mg/L s
SR 0.04 1 mg/L i
PH{H 8.32 6-9 e pass
AT 2. 39 10 mg/L P
Mg 0.422 0.5 mg/L S
27 T A 36 50 mg/L =
t)g 8 30 % pa
SR <0.00002] 0.001 mg/L L
S <0. 001 0.01 mg/L B2
SR <0. 004 0.1 mg/L =
<l E*Zlﬁlﬁ% Nﬁ% <0.004 [ 0.05 mg/L B2
9 L M Hy5(2014-11-10) ;;ﬁﬁa 0. 0005 0.1 mg/L I3
IKAEBET SV 0. 01 0.1 mg/L B
BIEY 8 10 mg/L -
1B 2R s
A (LAS) 0.11 0.5 mg/L 7
IR A AL 783 1000 /L &
A 7.7 8 mg/L I3
JSEA 12. 1 15 mg/L P
YERIIES 0. 04 1 mg/L B
LAY 0. 04 1 mg/L B




RE | gk | SHES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
I3 2 v .
A (1AS) 0. 092 0.5 mg/L s
IR R AL 903 1000 /L B2
A 1.32 8 mg/L. i
ISEA 6.73 15 mg/L i
f s 0. 04 1 mg/L B
SR <0. 04 1 mg/L 2
S s S A <0. 001 0.01 mg/L 2
[z ﬁ%jﬂlf Bk €0.004 | 0.1 mg/L 2
AR K E}E%ﬁ 2014-11-6 SN <0.004 | 0.05 mg/L B
X A Mt 0.00032 0.1 mg/L ik
SV <0.01 0.1 mg/L i
=Y 7 10 mg/L 2
PH/{H 8. 45 6-9 TN =
A T A 3.22 10 mg/L B
Ui 0.419 0.5 mg/L S
AR E TN 44 50 mg/L B
g 8 30 i pass
SR <0.00002| 0.001 mg/L 7
PH/{H 8.1 6-9 o =
AL T 3. 18 10 mg/L P
Ui 0. 406 0.5 mg/L IE
A i 44 50 mg/L B
g 4 30 i pass
SR <0.00002| 0.001 mg/L 7
SR <0. 001 0.01 mg/L B2
SR <0. 004 0.1 mg/L =
o e N <0.004 | 0.05 mg/L s
Wk ;E;;EE 2014-11-4 L 0. 00031 0.1 mg/L =
A 0. 01 0.1 mg/L 7=
=T 7 10 mg/L B
[ 7R v
A1 (1LAS) 0.108 0.5 mg/L P
IR R AL 303 1000 /L =
SR 4. 54 8 mg/L =
A 6.8 15 mg/L P
Rl 0. 04 1 mg/L 5
SR <0. 04 1 mg/L =
1B 2R s
A (LAS) 0.129 0.5 mg/L 7
IR A AL 653 1000 /L &
A 3. 83 8 mg/L =
JSEA 5.25 15 mg/L 5
VRIS 0. 04 1 mg/L I3
ILER/RIE 0. 04 1 mg/L &
S <0. 001 0.01 mg/L L
Mkiiia AR <0. 004 0.1 mg/L B2
WSk [ PEYE K AR |12014-11-4 NS <0.004 | 0.05 mg/L i
M Qi <0. 0001 0.1 mg/L P
ST <0.01 0.1 mg/L ik
=T 8 10 mg/L &
PH{{ 8. 03 6-9 JoEAN pas
N FFE 3. 19 10 mg/L =
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LT 0. 156 0.5 mg/L i
i T e 39 50 mg/L s
iy 20 30 % b
EIR <0.00002| 0.001 mg/L 2
B3 -2 v .
A (1AS) 0.13 0.5 mg/L s
N REEL 765 1000 /L =
A 1. 81 8 mg/L i
ISEA 7.04 15 mg/L i
F s 0. 04 1 mg/L B
SR <0. 04 1 mg /L 2
AR <0. 001 0.01 mg/L 2
AT Fr T 3k SR <0. 004 0.1 mg/L B
fEET | 4757K48]2014-11-10) NS <0.004 | 0.05 mg/L -
) LR 0. 0003 0.1 mg/L B
ST 0. 01 0.1 mg/L B2
=) 8 10 mg/L e
PH/{H 8. 56 6-9 =N =
AL T 3.91 10 mg/L P
i 0.239 0.5 mg/L IE
A i e 37 50 mg/L =
g 8 30 i pass
SR <0.00002| 0.001 mg/L 7
PH/{H 8.7 6-9 o =
A T A 3.4 10 mg/L B
LB 0.128 0.5 mg/L IE
A i e 28 50 mg/L =
JaNES 8 30 1% =
SR <0.00002| 0.001 mg/L S
ok <0. 001 0.01 mg/L P
SR <0. 004 0.1 mg/L =
- N <0.004 | 0.05 mg/L 7=
I A T ;E';EEE 2014-11-5 eyl 0.00033 ] 0.1 mg/L =
A 0. 01 0.1 mg/L 7=
=T 8 10 mg/L e
I 7R v
A1 (1LAS) 0. 089 0.5 mg/L P
IR R AL 768 1000 /L pas
A 1.9 8 mg/L s
A 3.3 15 mg/L P
Rl 0. 04 1 mg/L B
SR <0. 04 1 mg/L I3
PH{H 7.51 6-9 ToEAN pas
TN TFAE 5 10 mg/L =
L 0.44 0.5 mg/L B2
2 TR A 25 50 mg/L I3
t)g 4 30 % pa
SR 0.00002 [ 0.001 mg/L L
SR <0. 001 0.01 mg/L B2
SR <0. 004 0.1 mg/L =
JER LK INIES <0.004 [ 0.05 mg/L B2
ZIRIX TR K S [2014-11-12 Py il 0. 0022 0.1 mg/L I
EE N SV 0. 01 0.1 mg/L =
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poSe /) 7 10 mg/L i
128 2 v o
#(LAS) 0.07 0.5 mg/L =
FE R R AL 625 1000 /L Py
A 1.45 8 mg/L I
LV 14 15 mg/L =
YERIIES 0.13 1 mg/L B
Y 0.72 1 mg/L s
PH{{ 7.55 6-9 ToEAN pas
A T A 4.5 10 mg/L s
JS8iz: 0.24 0.5 mg/L ik
WEE T R 27 50 mg/L =
Bg 8 30 {5 pas
SR 0. 00002 | 0.001 mg/L B
SR <0.001 0.01 mg/L P
S Pf% <0. 004 0.1 mg/L %
‘ R 75K /\\1;[ % <0.004 | 0.05 mg/L B
fi] 22 H e 2014-10-29 LR 0.001 0.1 mg/L I
A S <0.01 0.1 mg/L P
I 9 10 mg/L B2
1 2 s
A (LAS) 0. 06 0.5 mg/L =
IR R AL 600 1000 /L B
AR 1.01 8 mg/L =
ISEA 11.5 15 mg/L P
PaiiEN 0.17 1 mg/L =
A 0.35 1 mg/L e
PHAH 8.3 6-9 JeEN =
A T A 3 20 mg/L 2
AL 4. 06 1 mg/L & 3.1
A i U 13 60 mg/L B
o 2 30 1% =
SR 0.00004 | 0.001 mg/L S
ok <0. 001 0.01 mg/L P
SR <0. 004 0.1 mg/L =
g AETT AN <0.004 | 0.05 mg/L i
I E [V5/KALRE[2014-11-24) Sy i 0.0014 0.1 mg/L i
HIRAH SUHT <0.01 0.1 mg/L i
BEIEY) 84 20 mg/L 75 3.2
B3 2R s o
A1 (LAS) 0. 05 1 mg/L 7=
N R 450 10000 /L =
A 3 15 mg/L 2
A 34. 7 20 mg/L =5 0.7
Rl 0.31 3 mg/L &
SR 0. 09 3 mg/L I3
PH{H 7.88 6-9 JoE pas
N TFEE 2 10 mg/L =
L 0. 89 0.5 mg/L 75 0.8
2 TR A 21 50 mg/L I3
JaaNEs 2 30 % P
SR 0.00008 | 0.001 mg/L i
AR <0. 001 0.01 mg/L 2
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SR <0. 004 0.1 mg/L B
P — N <0.004 | 0.05 mg/L 7z
T E | 58y5 KA [2014-11-17 LT 0.0013 0.1 mg/L P
) SV <0.01 0.1 mg/L -
BT 14 10 mg/L i 0.4
BT 2 v o
#(LAS) 0.08 0.5 mg/L =
FE R R AL 0 1000 /L P
SR 0. 546 8 mg/L I
ISy 19.8 15 mg/L 5 0.3
YERIIES 0. 05 1 mg/L B
LAY 0. 06 1 mg/L &
PH{{ 7.41 6-9 ToEAN pas
AN T 5 20 mg/L &
SV 0.18 1 mg/L 7
2 i A 19 60 mg/L -
B 16 30 % &
SR 0.00014 | 0.001 mg/L B2
SR <0.001 0.01 mg/L P
X X LV <0. 004 0.1 mg/L &
, g?i% NrE& <0.004 | 0.05 mg/L B
K HL 2014-10-23 LR 0.0014 0.1 mg/L I
AALILAT R 0. 01 0.1 g
BE//_\\HT /L‘:\AD . . mg/L JE
=Y 6 20 mg/L IE
1 2 v
A (LAS) 0. 06 1 mg/L =
PN BB 2700 10000 /L =
A 2. 53 15 mg/L =
MEA 17. 1 20 mg/L =
YeRiiES 0.12 3 mg/L =
S 0. 05 3 mg/L s
PH{{ 6. 67 6-9 JoiE 2 =
A T A 4 10 mg/L 2
AL 1. 64 0.5 mg/L & 2.3
A i U 42 50 mg/L 5
o 2 30 1% =
SR 0.00005 | 0.001 mg/L S
ok <0. 001 0.01 mg/L P
S <0. 004 0.1 mg/L B2
S Lk VAN Ik <0.004 | 0.05 mg/L 2=
g E | X yE K AL [2014-11-27 M fi 0. 0032 0.1 mg/L I
L ST <0.01 0.1 mg/L L
BEIEY) 31 10 mg/L 15 2.1
I3 R s .
A1 (LAS) 0.07 0.5 mg/L 2
IR R AL 3325 1000 /L 5 2.3
A 0. 677 8 mg/L 12
A 14. 46 15 mg/L L
Rl 0. 04 1 mg/L B
SR 0.07 1 mg/L I3
PH{H 7.39 6-9 ToEAN Py
A T 5 10 mg/L B
S 0. 31 0.5 mg/L =




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR

2 T R 20 50 mg/L St
n)g 2 30 £ pa
SR 0.00004 | 0.001 mg/L ik
psgi <0. 001 0.01 mg/L 2
s ey <0. 004 0.1 mg/L £
Y% Ei%g kR 0,004 | 0.05 | me/l | &
FARTIF & % K e 2014-11-12 L 0.0031 0.1 mg/L B
X "o IoNi <0. 01 0.1 mg/L 2
=Y 7 10 mg/L 2
BT 72 v .
#(LAS) 0. 06 0.5 mg/L =
FE R R AL 850 1000 /L Py
T 1.15 8 mg/L =
B 14.6 15 mg/L P
Rl 0.13 1 mg /L I3
SR 0.04 1 mg/L 3
PH{H 7.4 6-9 ToEAN =
N T 6 20 mg/L &
oy 0. 44 1 mg/L B
2 R A 36 60 mg/L -
BE 2 30 % =
SR 0.00003 | 0.001 mg/L B
SR <0.001 0.01 mg/L 7
RS 0. 008 0.1 mg/L B2
A E-AT SN <0.004 | 0.05 mg/L B
FNT (AL 12014-11-17 LR 0.0012 0.1 mg/L I
A FRA ] AT 0. 01 0.1 mg/L =
Y 18 20 mg/L 7=
1B 2R s -
A1 (1AS) 0.11 1 mg/L =
PN R 1750 10000 /L =
SR 0. 397 15 mg/L s
MEA 18.9 20 mg/L =
PRl 0.2 3 mg/L B
A 0. 64 3 mg/L e
PH{{ 7.75 6-9 JoE 2 =
A T A 3 20 mg/L 2
AL 0.22 1 mg/L 7=
A T 46 60 mg/L B2
ani 4 30 % pas
R <0.00014| 0.001 mg/L B2
SV <0. 001 0.01 mg/L -
A BB <0. 004 0.1 mg/L o
I %IIIE VAN/INs1 <0.004 [ 0.05 mg/L I
M BT 2014-11-17 LM 0. 0008 0.1 mg/L =
= ALY 0. 01 0.1 mg/L =

BIZY) 64 20 mg/L 5 2.2
I3 R s o
A1 (LAS) 0. 08 1 mg/L s
N AR 3750 10000 /L =
A 4.72 15 mg/L B2
MA 13.6 20 mg/L ik
fHE 0.11 3 mg/L Py
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SR 0.08 3 mg/L 2
PH{EL 7.54 6-9 JoE =
A T 1 10 mg /L B
L 1.92 0.5 mg/L 5 2.8
e AR 24 50 mg/L St
n)g 4 30 £ pas
SR <0.00001| 0.001 mg/L ik
s <0. 001 0.01 mg/L 2
SR <0. 004 0.1 mg/L ik
M i S <0.004 | 0.05 mg/L 2
M | KFESFHE|2014-12-1 L 0. 0076 0.1 mg/L B
A R ] SV 0. 01 0.1 mg/L 2
=Y 9 10 mg/L 2
328 - 2R T
A1 (LAS) 0.07 0.5 mg/L =
FE R R AL 9250 1000 /L i 8.3
AL 0. 635 8 mg/L B
B 3. 89 15 mg/L iy
ZeRliE 0. 05 1 mg/L I3
SR 0. 09 1 mg/L 3
PH{H 6.3 6-9 ToEAN =
T 3 20 mg/L &
SV 0.14 1 mg/L 7
2 R A 31 60 mg/L pis
BE 4 30 % =
SR 0.00012 | 0.001 mg/L B2
SV <0.001 0.01 mg/L S
5 P i SV <0. 004 0.1 mg/L i
IKE R AU <0.004 | 0.05 mg/L 5
FNT [ HRAF|2014-11-26 L <0.0005 | 0.1 mg/L i
W55 53 AT 0. 01 0.1 mg/L =
] =IEY) 16 20 mg/L 7=
1B 2R s
A1 (1AS) 0. 08 1 mg/L =
IR R AL 175 10000 /L B
A 3.88 15 mg/L B
MEA 17. 04 20 mg/L =
YeRiiES 0.04 3 mg/L =
ILER/RIE 0. 04 3 mg/L &
PH{{ 7. 14 6-9 Jo 2 pas
A TFA R 4 10 mg/L 5
JSy iz 0.13 0.5 mg/L L
A T 18 50 mg/L B2
aNi 8 30 % =
SR 0.00028 | 0.001 mg/L &
SV <0. 001 0.01 mg/L -
— i H SV <0. 004 0.1 mg/L 2
- %;EE;; Nﬁ% <0.004 | 0.05 mg/L i
=y AT 2014-10-23 it 0. 0009 0.1 mg/L pa
A ALY 0. 01 0.1 mg/L i
B 6 10 mg/L =2
BIES FRIERYE | o 05 | 0.5 mg/L 7

7l (LAS)
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IR R AL 4500 1000 /L 5 3.5
A 0. 99 8 mg/L S
ISEA 10.5 15 mg/L i
YRS 0.16 1 mg/L =
BRI 0.18 1 mg/L 2
PH{EL 7.4 6-9 =N pass
A T 4 10 mg/L B
SR 2.1 0.5 mg/L 5 3.2
W T 18 50 mg/L St
anic 8 30 i pass
SR 0.00006 | 0.001 mg/L ik
s <0. 001 0.01 mg/L 2
NN ey <0. 004 0.1 mg/L £
B P\ [ <0000 0.05 | mel | ke
=T ety 2014-10-23 AL 0.0012 0.1 mg/L =
% ST 0. 01 0.1 mg/L -
=) 7 10 mg/L B
328 - 2R T
A1 (LAS) 0. 05 0.5 mg/L =
FE R R AL 4100 1000 /L i 3.1
AL 0. 504 8 mg/L B
A 51.4 15 mg/L %5 2.4
ZeRliE 0.07 1 mg/L I3
SR 0.11 1 mg/L 3
1 2 v
A (LAS) 0.07 2 mg/L B2
PN BB 550 10000 /L =
A 1.75 30 mg/L B
M 25. 4 mg/L
YeRiiES 0.16 5 mg/L =
S 0. 26 5 mg/L s
—, . AV <0. 001 0.01 mg/L s
N @;EEZ; SR <0. 004 0.1 mg/L =
TN e 2014-10-29 NS <0.004 | 0.05 mg/L i
1. 37 M 0.0012 0.1 mg/L S
' ALY <0.01 0.1 mg/L s
BIZY) 11 30 mg/L e
PHAH 7.35 6-9 JeEN =
A TFA R 4 30 mg/L &
JSy iz 0.08 3 mg/L L
27 T A 26 100 mg/L B2
®g 8 40 % =
SR 0. 00002 | 0.001 mg/L 2
PH{{ 7.31 6-9 JoE =
A TFA R 4 30 mg/L &
JSy iz 4.93 3 mg/L 5 0.6
27 T A 26 100 mg/L B2
®g 10 40 % =
SR 0. 00002 | 0.001 mg/L 2
ok <0. 001 0.01 mg/L ik
NN BB <0. 004 0.1 mg/L B2
o EEE N 0,004 | 0.05 | me/L B
=T | e [2014-10-23 YL 0.0061 | 0.1 mg/L =
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i éfﬁ <0.01 0.1 mg/L ik
=T 6 30 mg/L =
I3 -2 s .
H (1LAS) 0.1 2 mg/L =
IR R AL 9000 10000 /L 5
A 0.072 30 mg/L i
MA 32. 4 mg/L
YERES 0.15 5 mg/L =
SR 0.19 5 mg/L 2
PH{EL 7.31 6-9 JoE =
A T 7.8 20 mg/L I3
Juy iz 0.321 1.5 mg/L -
WA TR A 47. 4 60 mg/L i
g 4 30 i pass
SR <0.0001 | 0.001 mg/L 7
SR <0.004 | 0.01 mg/L B2
SR <0. 004 0.1 mg/L s
R AN <0.004 | 0.05 mg/L I
HE3 X fgﬁgj 2014-12-12 L <0. 007 0.1 mg/L B
ST 0. 01 0.1 mg/L B2
BIZY) 20 20 mg/L =
328 - 2R T
A1 (LAS) <0. 05 1 mg/L =
FE R R AL 40 10000 /L I3
SR 3. 27 8 mg/L B
M 5.94 20 mg/L i
Rl <0. 1 3 mg/L 5
SR 0.1 3 mg/L =
PH{H 8.1 6-9 JoE pass
Ak T 4.3 10 mg/L B
Mg 0.125 0.5 mg/L S
27 T A 50 50 mg/L =
B 20 30 % pass
SR <0.0001 | 0.001 mg/L 7=
SV <0. 004 0.01 mg/L S
S 0. 099 0.1 mg/L 7=
A HK AU <0.004 | 0.05 mg/L 5
A EL B VG K AR |12014-11-11 L <0. 007 0.1 mg/L 7=
B ST <0.01 0.1 mg/L =
BIEY 10 10 mg/L -
1B 2R s
A (LAS) 0. 05 0.5 mg/L 7
IR A AL 90 1000 /L pas
A 23.4 5 mg/L & 3.7
JSEA 24. 2 15 mg/L 5 0.6
VeI <0. 1 1 mg/L I3
ILER/RIE <0. 1 1 mg/L 5
PH{{ 7.3 6-9 Jo 2 =
A TFA R <2 10 mg/L &
JSy iz 0. 477 0.5 mg/L ik
A T 36 50 mg/L B2
BE 4 30 e pas
R <0.0001 | 0.001 mg/L 2
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SR <0. 004 0.01 mg/L ik
EER <0. 004 0.1 mg/L 2
v AN Nie <0.004 | 0.05 mg/L P
S H. fﬁiﬁ 2014-10-28 S 0.007 | 0.1 me/L o
SVEY <0.01 0.1 mg/L ik
=Y 10 10 mg/L pats
B3 2 v .
A (1AS) 0. 05 0.5 mg/L s
IR R AL 60 1000 /L I3
A 3. 04 5 mg/L S
ISEA 4. 21 15 mg/L i
F s <0. 1 1 mg/L &
SR <0. 1 1 mg /L 2
PH/{H 8. 37 6-9 TN =
A T A 8.7 10 mg/L B
Ui 0.122 0.5 mg/L S
AR E TN 34.9 50 mg/L B
g 8 30 i pass
SR <0.0001 | 0.001 mg/L 7
SR <0.004 | 0.01 mg/L B2
SR <0. 004 0.1 mg/L P
IR AN <0.004 | 0.05 mg/L I
HE fﬁiiﬁ 2014-10-16 i <0. 007 0.1 mg/L B
ST 0. 01 0.1 mg/L B2
=T 8 10 mg/L e
328 - 2R T
A1 (1LAS) <0.05 0.5 mg/L P
IR R AL 20 1000 /L =
A 4.98 5 mg/L pass
M 7.33 15 mg/L J
YeRiiEN <0. 1 1 mg/L s
SR <0. 1 1 mg/L =
PH{H 7.74 6-9 e pass
AT 9.6 10 mg/L P
Mg 0.158 0.5 mg/L S
1 A 107 50 mg/L i 1.1
Ny 8 30 % pass
SR <0.0001 | 0.001 mg/L =
S <0.004 [ 0.01 mg/L B2
HEHs BB <0. 004 0.1 mg/L I3
JKALBR] VAN <0.004 [ 0.05 mg/L B2
EH | (EXY5(2014-10-16 it <0. 007 0.1 mg/L 2=
TR AL B SV 0. 01 0.1 mg/L B
J ) BIEY 10 10 mg/L -
1B 2R s
A (LAS) 0. 05 0.5 mg/L 7
IR A AL 50 1000 /L pas
A 29. 3 5 mg/L & 4.9
JSEA 32. 1 15 mg/L 5 1.1
YeRiiES <0. 1 1 mg/L I3
ILER/RIE <0. 1 1 mg/L &
PH{{ 7.13 6-9 JoEAN pas
N FFE <2 10 mg/L &




XE | gk | SRES IR H HEBOR B | ArvERRAE | HERCasr | RS | AR
LT 0.376 0.5 mg/L i
i T e 35. 1 50 mg/L 2
faaNis 4 30 % &
EIR <0.0001 | 0.001 mg/L 2
SR <0. 004 0.01 mg/L ik
EER <0. 004 0.1 mg/L 2
e o AN Ki-d <0.004 [ 0.05 mg/L 2
TEVG B0 ;—iﬁiﬁ 2014-10-20 JEL i <0. 007 0.1 mg/L B
SVEY <0.01 0.1 mg/L ik
=Y 10 10 mg/L pats
B3 - 1 .
A (1AS) 0. 05 0.5 mg/L s
IR R AL 40 1000 /L pas
A 4. 87 5 mg/L IE
MA 8.2 15 mg/L P
YERiiES <0.1 1 mg/L g3
SIREA 0.1 1 mg/L =
PH/{H 8. 63 6-9 =N =
A T A 9.7 10 mg/L B
i 0.312 0.5 mg/L IE
A i e 25.9 50 mg/L B
g 4 30 i pass
SR <0.0001 | 0.001 mg/L 7
SR <0.004 | 0.01 mg/L B2
SR <0. 004 0.1 mg/L P
. T ELys ﬁfﬁ% <0. 004 0. 05 mg/L =
ekH S KA 2014-10-15 i <0. 007 0.1 mg/L =
S <0.01 0.1 mg/L =
BIZY) 10 10 mg/L e
[ 2R v
A1 (LAS) <0. 05 0.5 mg/L P
IR R AL 50 1000 /L pas
SR 2.11 5 mg/L =
M 6.09 15 mg/L i
Rl <0. 1 1 mg/L 5
SR 0.1 1 mg/L =
PH{H 7.94 6-9 JoE pass
Ak T 2.6 10 mg/L B
AL 0.5 0.5 mg/L B2
2 TR A 41.8 50 mg/L 2=
t)g 4 30 % pas
SR <0.0001 | 0.001 mg/L L
S <0.004 [ 0.01 mg/L B2
g SR <0. 004 0.1 mg/L =
‘ ?&?ﬁ:iz& N <0.004 [ 0.05 mg/L B2
7of A BT B 2014-10-15 LR <0. 007 0.1 mg/L i
A ST <0.01 0.1 mg/L =
BIEY 10 10 mg/L -
1B 2R s
A (LAS) 0. 05 0.5 mg/L 7
IR R 60 1000 /L Py
A 3.79 5 mg/L S
JSEAN 6. 58 15 mg/L AL




XE | gk | SRES g IRy 5| HEBOR B | ArvERRAE | HERCasr | RS | AR
YERIIES <0. 1 1 mg/L i
LAY <0. 1 1 mg/L B
PH{{ 7.98 6-9 JoEAN pas
N FEA <2 10 mg/L i
JSRiz: 0.215 0.5 mg/L ik
i T A 49. 1 50 mg/L B2
BE 4 30 {5 pas
EIR <0.0001 | 0.001 mg/L 2
B3 - 1 .
A (1AS) 0. 05 0.5 mg/L s
PR ] At IR R AL 20 1000 /L pas
WO E |V K Ab B [2014-11-11 TR 0. 96 5 mg/L 7z
AR ¥ 4.78 15 mg/L B
YERiiES <0.1 1 mg/L g3
SIREA 0.1 1 mg/L =
SR <0.004 | 0.01 mg/L B
SR <0. 004 0.1 mg/L P
NER <0.004 | 0.05 mg/L B
M <0.007 0.1 mg/L 7
ST <0. 01 0.1 mg/L B2
BIZY) 10 10 mg/L =
PH/{H 7.65 6-9 JoEHN =
A T A <2 10 mg/L I3
S 0.477 0.5 mg/L P
A i 22. 7 50 mg/L B
g 4 30 i pass
SR <0.0001 | 0.001 mg/L S
ok <0. 004 0.01 mg/L P
SR <0. 004 0.1 mg/L =
= VAN ks <0.004 [ 0.05 mg/L =
S - X Efgzk 2014-10-20 eyl <0. 007 0.1 mg/L =
ALY 0. 01 0.1 mg/L 7=
BIZY) 10 10 mg/L s
[ 7R v
A1 (1LAS) <0. 05 0.5 mg/L P
IR R AL 60 1000 /L =
A 3.81 5 mg/L pass
M 5. 24 15 mg/L i
Rl 0.1 1 mg/L B
S <0. 1 1 mg/L &
1B 2R s
A (LAS) 0. 05 0.5 mg/L 7
IR A AL 70 1000 /L pas
A 1.25 5 mg/L =
SR 7.42 15 mg/L B
VeI <0. 1 1 mg/L I3
ILER/RIE <0. 1 1 mg/L 5
ok <0. 004 0.01 mg/L L
e BB <0. 004 0.1 mg/L B2
B L iﬁiﬁ 2014-11-27 SN <0.004 | 0.05 mg/L =
L <0. 007 0.1 mg/L B2
SVEY <0.01 0.1 mg/L i
=Y 9 10 mg/L AL
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PH{{ 8.39 6-9 JoEAN pas
A T A 6.21 10 mg/L s
JS8iz: 0.134 0.5 mg/L ik
i T e 31.9 50 mg/L B2
iy 4 30 % pas
EIR <0.0001 | 0.001 mg/L 2
PH{{ 7.39 6-9 ToEAN pas
N TFA 5 10 mg/L &
JSRiz: 0. 441 0.5 mg/L ik
i T e 33.4 50 mg/L &
iy 4 30 % pas
EIR <0.0001 | 0.001 mg/L 2
SR <0. 004 0.01 mg/L ik
NS <0. 004 0.1 mg/L B2
. N <0.004 | 0.05 mg/L £
F M T iﬂgﬁ 2014-10-30) LR <0. 007 0.1 mg/L B
SVEY <0.01 0.1 mg/L 7
=Y 10 10 mg/L IE
1 2 v
A (LAS) 0. 05 0.5 mg/L =
N B REEL 40 1000 /L =
A 0.91 5 mg/L IE
MA 5.21 15 mg/L P
PERiiES <0.1 1 mg/L g3
SIREA 0.1 1 mg/L =
PH/{H 7.13 6-9 o =
A T A <2 10 mg/L 5
Joy iz 0. 376 0.5 mg/L P
MEA 7.2 15 mg/L =
YeRiiES <0. 1 1 mg/L 7=
S <0. 1 1 mg/L s
S <0. 007 0.1 mg/L =
SVEY <0.01 0.1 mg/L S
RN 5K =IEY) 10 10 mg/L =
ERMTT | KR | 2014-10-22 BH 85 F 22 552 H
AR AT | (LAS) <0.05 0.5 mg/L e
PN BB 70 1000 /L =
A 4.77 5 mg/L =
A T 31. 1 50 mg/L B2
ani 4 30 % pas
R <0.0001 | 0.001 mg/L B2
ok <0. 004 0.01 mg/L L
S <0. 004 0.1 mg/L B2
VAN Ik <0.004 | 0.05 mg/L =




